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Topic:­ Physics
1)

Question Stimulus :­

Poyinting vector is:/ Āॊयကीग सोदश ऻॖ

Correct Answer :­  

2)

Question Stimulus :­

Two smooth objects with a coefficient of restitution e, collides directly and bounce as
shown:/ दो ोचकनी शĀॏ ोजनकॕ ঋĀॊशĀथॊन गॏणॊॠक कॊ मॊन e ऻॖ, सीधॊ टकरॊतॕ ऻॖ एशॠ ोचআॊनॏसॊर शॊपस लग़टतॕ ऻ॰:

Newton's law of restitution gives:/ तो ကूटन कॊ ঋĀॊशĀथॊन गॏणॊॠक दशॊ१तॊ ऻॖ:

v1 = 3 eu

u = 3ev1

v1 = 2eu

It cannot be applied as the masses are not known/ योद ঈကमॊन अĀॊत ऻो तो इसकॊ ঋयोग
नऻी ॠ कर सकतॕ ऻ॰

Correct Answer :­u = 3ev1 



3)

Question Stimulus :­

While measuring thermal conductivity of a liquid, we keep the upper part hot and lower
part cold, so that:/ ঈश की उĀीय चॊलकतॊ Āॊत करनॕ कॕ ोलए ऻम ঈश कॊ ऊपर कॊ भॊग गम१ तथॊ नीचॕ कॊ
भॊग ठĀॊ रखतॕ ऻ॰ ोजससॕ:

Radiation may start/ ोशोकरण शॏॺ ऻो जॊऐ

Radiation may stop/ ोशोकरण ॺक जॊऐ

Convection may start/ सॠशऻन शॏॺ ऻो जॊऐ

Convection may be stopped/ सॠशऻन ॺक जॊऐ

Correct Answer :­Convection may be stopped/ सॠशऻन ॺक जॊऐ 

4)

Question Stimulus :­

L–C oscillator have which type of feedback?/ L–C दोोलআ म७ ोकस ঋकॊर कॊ पॏनभ१रण ঋयोग म७ लॊतॕ
ऻ॰?

Positive/धनॊĀक

Negative/ऋणॊĀक

Both the above/ उपरोঢ दोनो ॠ

None of the above/ उपरोঢ म७ सॕ कोई नऻी ॠ

Correct Answer :­Positive/धनॊĀक 

5)

Question Stimulus :­

A particle is projected with initial speed u. At the top most point its speed is 
 then maximum height attained by it is:/ एक कण को ঋॊर्Āक चॊल u सॕ फ॰ कॊ जॊतॊ ऻॖ।

अोधकतम ऊँचॊई पर इसकी चॊल    ऻो जॊती ऻॖ तो इसकॕ ကॊरॊ ঋॊĀ अोधकतम ऊँचॊई ऻोगी:



Correct Answer :­  

6)

Question Stimulus :­

For shown situation the tension T2 is:/ ोदखॊई गयी पौर्Āथोत म७ तनॊश T2 ऻॖ:

Zero/शूက

Correct Answer :­Zero/शूက 

7)

Question Stimulus :­

A prism ABC of angle 30° has its face AC silvered. A ray of light incident at an
angle of 45° at the face AB retraces its path after refraction at face AB and
reflection at face AC. The refractive index of the material of the prism is:/ एक
30° कोण कॕ ोঋĀ ABC कॕ एक फलक AC पर चॊँदी की कलई की गई ऻॖ। फलक AB पर एक ঋकॊश ोकरण
45° पर आपोतत ऻॖ। AB पर अपशत१न ऻोनॕ कॕ बॊद AC सॕ परॊशोत१त ऻोकर ोकरण अपनॕ पथ पर शॊपस लग़टती ऻॖ। लॕĀ
कॕ पदॊथ१ कॊ अपशत१नॊॠक ऻॖ:



1.5

Correct Answer :­  

8)

Question Stimulus :­

When two resistance are connected in parallel then the equivalent resistance is 

. When one of the resistance is removed then the effective resistance is 2 .
The resistance of the wire removed will be:/ जब दो ঋोतरोध समॊĀर म७ जोीॕ जॊतॕ ऻ॰ तो तॏĀ

ঋोतरोध   ऻॖ। जब ঋोतरोधो ॠ म७ सॕ एक को ऻटॊयॊ जॊतॊ ऻॖ तो ঋभॊशी ঋोतरोध 2  ऻॖ तो ऻटॊए गए तॊर कॊ
ঋोतरोध ऻोगॊ:

Correct Answer :­  

9)

Question Stimulus :­

A particle is executing SHM according to the equation x = A sin ( ). At any

time t, it is found that the total phase of the particle is   then the particle is at:/
एक कण, समीकरण x = A sin ( ) कॕ अनॏसॊर सरल आशत१ गोत कर रऻॊ ऻॖ ोकसी ঴ण t  पर कण कॊ



कॏ ल कलॊ कोण योद    ऻॖ, तो कण

x =   and moving in + x direction/ x =   पर ऻॖ तथॊ + x ोदशॊ म७ गोतशील ऻॖ

x =   and moving in – x direction / x =   पर ऻॖ तथॊ – x ोदशॊ म७ गोतशील
ऻॖ

x =   and moving in – x direction/ x =   पर ऻॖ तथॊ – x ोदशॊ म७ गोतशील ऻॖ

x =    and moving in + x direction/ x =    पर ऻॖ तथॊ + x ोदशॊ म७
गोतशील ऻॖ

Correct Answer :­x =   and moving in – x direction / x =   पर ऻॖ तथॊ – x ोदशॊ म७
गोतशील ऻॖ 

10)

Question Stimulus :­

A force   acts on a particle of mass 1kg for 2 seconds. If initial
velocity of particle is   m/s. Speed of particle at the end of 2 seconds
will be:/ 1 Kg कॕ एक कण पर एक बल  , 2 सॕकĀ कॕ ोलयॕ ोॿयॊरत ऻॖ। योद कण कॊ
आर्Āक शॕग   m/s ऻॖ तो 2 सॕकĀ पĀॊत् कण की चॊल ऻोगी:

12 m/s

6 m/s

9 m/s

4 m/s

Correct Answer :­9 m/s 

11)

Question Stimulus :­

Which bulb takes maximum current from supply:/ कग़नसॊ बĀ ঔोत सॕ अोधकतम धॊरॊ लॕगॊ:

25 W



40 W

100 W

All take same current/ सभी बरॊबर धॊरॊ ल७गॕ

Correct Answer :­100 W 

12)

Question Stimulus :­

The period of oscillation of a ring oscillating about an axis passing through its
rim is 1 second. If  , then the length of the equivalent simple pendulum will
be:/ पौरधी सॕ गॏजरनॕ शॊली अ঴ कॕ ঋोत दोलन कर रऻॕ शलय कॊ दोलनकॊल 1 सॖकĀ ऻॖ। योद    ऻो
तो तॏĀ सरल लोलक की लĀॊई ऻोगी:

0.25 m

0.5 m

0.75 m

1.0 m

Correct Answer :­0.25 m 

13)

Question Stimulus :­

If L, Q and R represents the inductance, charge and resistance respectively then:/ योद
L, Q श R ॿमशॡ ঋॕरकက, आशॕश श ঋोतरोध इॠोगत कर७  तो:

 will be the units of of current/धॊरॊ की इकॊई   ऻोगी

 will be the units of of energy/ऊजॊ१ की इकॊई    ऻोगी

 will be the units of of current/धॊरॊ की इकॊई    ऻोगी

 will be the units of of power/श्ঢ की इकॊई    ऻोगी

Correct Answer :­  will be the units of of current/धॊरॊ की इकॊई   ऻोगी 

14)



Question Stimulus :­

Figure shows the time­displacement of particles P and Q. The relative speed of
P w.r.t. Q is:/ ঋदोश१त ोचআ कण P एशॠ Q कॕ समय­ोशĀथॊपन कॊ ऻॖ। तो Q कॕ सॊपॕ঴ P की आपॕो঴त
चॊल :

Zero/शूက ऻोगी

Increasing/बुॕगी

Decreasing / घटॕगी

Constant but non­zero/ोनयत लॕोकन अशूက ऻोगी

Correct Answer :­Constant but non­zero/ोनयत लॕोकन अशूက ऻोगी 

15)

Question Stimulus :­

A fixed source of sound emitting a certain frequency appears at fa when the observer is
approaching the source with speed v0 and frequency fr when the observer recedes
from the source with the same speed. The frequency of the source is:/ एक ्Āथर Āोत सॕ
उĀोज१त ोनोĀत आश॑ोĀ की Āोन को v0 शॕग सॕ Āोत की तरफ पॽँचतॕ ॽयॕ तथॊ दूर जॊतॕ ॽयॕ ঋॕ঴क कॕ ကॊरॊ Āॊत
आश॑ोĀ ॿमशॡ fa तथॊ fr ऻॖ। Āोत की आश॑ोĀ ऻोगी:

Correct Answer :­  

16)



Question Stimulus :­

The potential difference applied to an X­ray tube is 10kV and the current through it is
6.4 mA. The number of electrons striking the target per second is:/ ोकसी X­ोकरण नली पर
आरोोपत ोशभशॊĀर कॊ मॊन 10kV ऻॖ तथॊ इसम७ ঋशॊोऻत धॊरॊ 6.4 mA ऻॖ। लশ पर ঋोत सॕकĀ टकरॊनॕ शॊलॕ
इलॕঠ३ ॗĀ की सॠূॊ ऻोगी:

Correct Answer :­  

17)

Question Stimulus :­

The potential difference between the plates of 4.5 µF capacitor in the following
circuit will be:/ ोदए गए ोचআ म७ 4.5 µF सॠधॊौरআ की ကॕटो ॠ कॕ बीच ोशभशॊĀर ऻोगॊ:

 Volt/  शोĀ

4 Volt/4 शोĀ

6 Volt/6 शोĀ

8 Volt/8 शोĀ

Correct Answer :­8 Volt/8 शोĀ 

18)

Question Stimulus :­

If the percentage error in the measurement of radius of a sphere is 2%, then
the maximum percentage errors in the measurements of its diameter, surface
area and volume are respectively:/ योद एक गोलॕ की ोআĀॊ कॕ मॊपन म७ ঋोतशत আॏोट  2% ऻो,

तो उसकॕ ကॊस, प॑Āीय ঴ॕআफल तथॊ आयतन कॕ मॊपन म७ अोधकतम ঋोतशत আॏोटयॊँ ॿमशॡ ऻो ॠगी:



तो उसकॕ ကॊस, प॑Āीय ঴ॕআफल तथॊ आयतन कॕ मॊपन म७ अोधकतम ঋोतशत আॏोटयॊँ ॿमशॡ ऻो ॠगी:

2%, 4% and 4 %/2%, 4% तथॊ 4 %

6%, 4% and 2%/6%, 4% तथॊ 2%

6%, 6% and 6%/6%, 6% तथॊ 6%

2%, 4% and 6%/2%, 4% तथॊ 6%

Correct Answer :­2%, 4% and 6%/2%, 4% तथॊ 6% 

19)

Question Stimulus :­

According to the De Broglie, the radius of nth Bohr electron orbits is: (λ = wavelength of
electron)/ डी­঍ोगली कॕ अनॏसॊर nशी ॠ इलॕঠ३ ॊन बोऻर क঴ॊओॠ की ोআĀॊ ऻोती ऻॖ: (λ = इलॕঠ३ ॊन की तरॠग तरॠगदॖĀ१)

Correct Answer :­  

20)

Question Stimulus :­

For a magnetic material graph between intensity of magnetization    and
magnetic intensity   is as shown in diagram:/ ोकसी चॏĀकीय पदॊथ१ कॕ ोलए चॏĀकन
ती঑तॊ     श चॏĀकन ঴ॕআ    कॕ मĀ ঁॊफ ोचআॊनॏसॊर ऻॖ तो

Then material is/पदॊथ१ ऻो सकतॊ ऻॖ:



Diamagnetic/ोကचॏĀकीय

Paramagnetic/परॊचॏĀकीय

Ferromagnetic/लग़ऻचॏĀकीय

All of the above/उपरोঢ सभी

Correct Answer :­Diamagnetic/ोကचॏĀकीय 

21)

Question Stimulus :­

Which is not the correct relation between different current gain ( ,  ,  ) of
transistor amplifier:/ ट३ ॊॠोजĀर ঋशध१क कॕ ोशोभĀ धॊरॊ लॊभ ( ,  ,  )  कॕ मĀ जो सऻी सĀĀ नऻी ॠ
ऻॖ:

Correct Answer :­  

22)

Question Stimulus :­

p – V plots for two gases during adiabatic processes are shown in the figure. Plots 1
and 2 should correspond respectively to:/ ोचআ म७ दो गॖसो ॠ कॕ ोलयॕ ॺĀोĀ ঋॿमो ॠ कॕ दग़रॊन p – V
आरॕख ोदखॊयॊ गयॊ ऻॖ। आरॕख 1 और 2 सॠगत ऻ॰:

He and O2 / He एशॠ O2 कॕ

O2 and He/ O2 एशॠ He कॕ



He and Ar/ He एशॠ Ar कॕ

O2 and N2/ O2  एशॠ N2 कॕ

Correct Answer :­O2 and He/ O2 एशॠ He कॕ 

23)

Question Stimulus :­

A particle is moving with constant acceleration. It's path:/ ोनयत ကरण सॕ गोतशील कण कॊ पथ:

Must be linear/ सीधी रॕखॊ ऻोगॊ

Must be curved/ शॿीय ऻोगॊ

May be curved/ शॿीय ऻो सकतॊ ऻॖ

May be circular/ श॑ोĀय ऻो सकतॊ ऻॖ

Correct Answer :­May be curved/ शॿीय ऻो सकतॊ ऻॖ 

24)

Question Stimulus :­

A ring takes t1 second in rolling down an inclined plane without slipping. The
same ring takes t2 second in sliding down without rolling on a similar but
frictionless inclined plane. Then the ratio t1 : t2 is:/ एक शलय को झॏकॕ ॽए तल सॕ ोबनॊ
ोफसलॕ नीचॕ लॏुकनॕ म७ t1 सॖकĀ कॊ समय लगतॊ ऻॖ जबोक शऻी शलय उसी ঋकॊर कॕ घह१ण रोऻत झॏकॕ तल सॕ
ोबनॊ लॏुकॕ ोफसलनॕ म७ t2 समय लॕती ऻॖ तो अनॏपॊत t1 : t2 ऻोगॊ:

1 : 2

2 : 1

Correct Answer :­  

25)

Question Stimulus :­

Which statement is not correct?/ कग़नसॊ कथन सऻी नऻी ॠ ऻॖ?



Rough surface is good radiator than smooth surface/ रफ प॑Ā ोचकनॕ प॑Ā की अपॕ঴ॊ अৢॊ
ोशोकरक ऻॖ।

Mirror is a good thermal radiator/ दप१ण एक अৢॊ ऊĀीय ोशोकरक ऻॖ।

Black body is good radiator than white body/ क्॑Āकॊ Āॕत शĀॏ की अपॕ঴ॊ अৢॊ ोशोकरक ऻॖ।

White body absorbs less radiation than black body/ Āॕत शĀॏ क्॑Āकॊ की अपॕ঴ॊ कम
ोशोकरण अशशोोहत करती ऻॖ।

Correct Answer :­Mirror is a good thermal radiator/ दप१ण एक अৢॊ ऊĀीय ोशोकरक ऻॖ। 

26)

Question Stimulus :­

Alternating current or e.m.f. measuring instruments measure its:/ ঋĀॊशत५ धॊरॊ यॊ e.m.f.
मॊपनॕ शॊलॕ उपकरण ভॊ मॊपतॕ ऻॖ?

Peak value/ ोशखर मॊन

R.M.S. value/ R.M.S. मॊन

Average value/औसत मॊन

None of the above/ उपरोঢ म७ सॕ कोई नऻी ॠ

Correct Answer :­R.M.S. value/ R.M.S. मॊन 

27)

Question Stimulus :­

Current in a coil changes at a constant rate of 2A in 50ms. A back­emf of 4V is induced in the
coil. What is the self­inductance of the coil:/ एक कॏ Āली म७ धॊरॊ एक ोनयत दर 2A, सॕ 50ms म७ बदलती ऻॖ, तो
4V कॊ पĀ ोशद्यॏ त शॊऻक बल ঋॕौरत ऻोतॊ ऻॖ तो कॏ Āली कॊ Āঋॕरकက ऻोगॊ:

0.025 H

0.10 H

0.40 H

40 H

Correct Answer :­0.10 H 

28)

Question Stimulus :­



Rutherford experiment of  ­scattering is related to the size of the:/रदरफोड१ कॊ  ­
ঋोकण१न कॊ ঋयोग ोनĀ म७ सॕ ोकसकॕ आकॊर सॕ सĀ्Āत ऻॖ:

Nucleus/नॊोभक

Atom/परमॊणॏ

Electron/ इलॕঠ३ ॗन

Neutron/ကूट३ ॗन

Correct Answer :­Nucleus/नॊोभक 

29)

Question Stimulus :­

In order to increase the temperature of the gas filled in a closed vessel by 0.5°C
its pressure is increased by 2%. The initial temperature of the gas is:/ एक बĀ
बत१न म७ भरी गॖस कॊ तॊप 0.5°C बुॊनॕ पर उसकॕ दॊब म७ 2% की बुोআी ऻोती ऻॖ तो गॖस कॊ ঋॊर्Āक तॊप 
ऻॖ:

400 K

250 K

25 K

­248 K

Correct Answer :­25 K 

30)

Question Stimulus :­

A coil of number of turn N, radius R is carrying current I have the value of magnetic
field B0 at the centre. The value of magnetic field at the axis of that coil at the point
which is very far away (X>>R) from the centre is proportional to:/ N घॕरॕ, R ोআĀॊ श I धॊरॊ
की कॏ Āली कॊ कॕက पर चॏĀकीय ঴ॕআ B0 ঋॊĀ ऻोतॊ ऻॖ। उसी कॏ Āली की अ঴ पर कॕက सॕ बॽत अोधक दूरी
(X>>R) पर ्Āथत ोबĀदॏ  पर चॏĀकीय ঴ॕআ समॊनॏपॊती ऻोगॊ:



Correct Answer :­  

31)

Question Stimulus :­

The work done to carry a charge of –5.0 C from A to B is 10 Joule. The relation of
potential between the two points and potential difference will be: /आशॕश ­5 कूलॊम को ोबĀदॏ
A सॕ B तक लॕ जॊनॕ म७ ोकयॊ गयॊ कॊय१ 10 जूल ऻॖ। दोनो ॠ ोबĀदॏ ओॠ म७ सॕ ोकसकॊ ोशभश अोधक ऻॖ तथॊ इन ोबĀदॏ ओॠ कॕ
मĀ ोशभशॊĀर ोकतनॊ ऻॖ:

B is at higher potential than A by 2 volt/ ोबĀदॏ  B कॊ ोशभश ोबĀदॏ  A सॕ 2 शोĀ अोधक ऻॖ

A is at higher potential than B by 2 volt/ ोबĀदॏ  A कॊ ोशभश ोबĀदॏ  B सॕ 2 शोĀ अोधक ऻॖ

A has potential 50 volts greater than that of B/ ोबĀदॏ  A कॊ ोशभश ोबĀदॏ  B
कॕ ोशभश सॕ 50 शोĀ  अोधक ऻॖ

B has potential 50 volts greater than that of A/ ोबĀदॏ  B कॊ ोशभश ोबĀदॏ  
A कॕ ोशभश सॕ 50 शोĀ अोधक ऻॖ

Correct Answer :­A is at higher potential than B by 2 volt/ ोबĀदॏ  A कॊ ोशभश ोबĀदॏ  B सॕ 2 शोĀ
अोधक ऻॖ 

32)

Question Stimulus :­

An aluminum ring hangs vertically from a thread with its axis pointing east­west. A coil
is fixed near to the ring and coaxial with it’s:/ एक एĀॏोमोनयम की शलय ऊĀॊ१धर एक धॊगॕ सॕ
लटकॊई जॊती ऻॖ। ोजसकी अ঴ पूश१­पोĀम म७ ्Āथत ऻॖ। एक कॏ Āली शलय कॕ पॊस एक ्Āथर कॏ Āली समॊ঴ीय ्Āथत ऻॖ:

What is the initial motion of the aluminum ring when the current in the coil is switched
on?/ योद कॏ Āली म७ धॊरॊ ঋशॊोऻत कर७  तो ऐĀॏोमोनयम की शलय ोकधर गोत करॕगी?



Remains at rest/ ्Āथर रऻॕगी

Moves towards S/ दो঴ण ोदशॊ म७ गोत करॕगी

Moves towards W/ उĀर ोदशॊ म७ गोत करॕगी

Moves towards E/ पूश१ ोदशॊ म७ गोत करॕगी

Correct Answer :­Moves towards E/ पूश१ ोदशॊ म७ गोत करॕगी 

33)

Question Stimulus :­

A choke coil is a :/ चोक कॏ Āली ऻोती ऻॖ:

High resistance and low inductance coil/ उৡ ঋोतरोध तथॊ अĀ ঋॕरकက की

Low resistance and high inductance coil/ अĀ ঋोतरोध तथॊ उৡ ঋॕरकက की

Low resistance and low inductance coil/ अĀ ঋोतरोध तथॊ अĀ ঋॕरकက की

High resistance and high inductance coil/ उৡ ঋोतरोध तथॊ उৡ ঋॕरकက की

Correct Answer :­Low resistance and high inductance coil/ अĀ ঋोतरोध तथॊ उৡ ঋॕरकက की 

34)

Question Stimulus :­

A charge Q  C is placed at the centre of a cube, the flux coming out from any surface
will be:/ Q  C कॊ एक आशॕश घन कॕ कॕက पर रखॊ ऻॖ, तो ोकसी भी फलक सॕ पॊौरत Āস Āॊत करो।

Correct Answer :­  

35)



Question Stimulus :­

A particle starts motion from rest with uniform acceleration. It travels S distance in
first t time then distance travelled in next 3t time is:/ एक कण ोशरॊमॊशĀथॊ सॕ गोत ঋॊरĀ करकॕ
ोनयत ကरण कॕ अधीन गोतशील ऻॖ। यऻ ঋथम t समय म७ S दॏरी तय करतॊ ऻॖ तो अगलॕ 3t समय ोकतनी दॏरी तय
करॕगॊ?

3S

9S

15S

16S

Correct Answer :­15S 

36)

Question Stimulus :­

A radioactive sample has 2 × 1010 active nuclei at t = 0. Its half­life is 7 days. How much
nuclei will disintegrate in 14 days?/t = 0 पर ोकसी रॕोडयो सोॿय नमूनॕ म७ 2 × 1010 सोॿय नॊोभक ऻ॰ इसकी
अĀ१आयॏ 7 ोदन ऻॖ, 14 ोदन म७ ोकतनॕ नॊोभक ोशघटन ऻो जॊय७गॕ?

0.5 × 1010

1.5 × 1010

1010

0.25 × 1010

Correct Answer :­1.5 × 1010 

37)

Question Stimulus :­

A co­axial cable carrying equal current in opposite direction have cross section
as shown in diagram. If B1 and B2 are the magnetic field at inner and outer
point of cable then which relation is correct?/ एक समॊ঴ीय कॕबल समॊन मॊन की धॊरॊ
ोशपरीत ोदशॊओॠ म७ ঋशॊोऻत ऻो रऻी ऻॖ, जॖसॊ ोक ोचআ म७ दशॊ१यॊ गयॊ ऻॖ। योद B1 श B2 कॕबल कॕ आĀौरक श
बॊĀ ोबĀदॏ ओॠ पर चॏĀकीय ঴ॕআ ऻॖ, तो कग़नसॊ सĀĀ सऻी ऻॖ?



B1 = 0, B2 = 0

B1 ≠ 0, B2 ≠ 0

B1 = 0, B2 ≠ 0

B1 ≠ 0, B2 = 0

Correct Answer :­B1 ≠ 0, B2 = 0 

38)

Question Stimulus :­

For the myopic eye, the defect is cured by:/ ोनकट­ĀोĀ दोह को दूर करनॕ कॕ ोलए उपयोग म७ लॊतॕ ऻ॰:

Convex lens/ उĀल लॕĀ

Concave lens/ अशतल लॕĀ

Cylindrical lens/ बॕलनॊकॊर लॕĀ

Toric lens/ टॗौरक लॕĀ

Correct Answer :­Concave lens/ अशतल लॕĀ 

39)

Question Stimulus :­

Consider two process A and B on a system as shown in the figure let ∆W1 and ∆W2 be
the work done by the system in the process A and B respectively then:/ ोचআ म७ एक ोनकॊय
कॕ दो ঋॿम को ঋदोश१त ोकयॊ गयॊ ऻॖ। मॊनॊ ঋॿम A तथॊ B कॕ ोलए ोनकॊय ကॊरॊ ोकयॊ गयॊ कॊय१ ॿमशॡ ∆W1 तथॊ
∆W2 ऻॖ, तब:

∆W1 > ∆W2

∆W1 < ∆W2

∆W1 = ∆W2

Nothing can be said about the relation between ∆W1 and ∆W2/ ∆W1 तथॊ ∆W2 कॕ



मĀ सĀॠध बतॊ नऻी ॠ सकतॕ

Correct Answer :­∆W1 < ∆W2 

40)

Question Stimulus :­

The weight of an object in the coal mine, sea level, at the top of the mountain
are w1, w2 and w3 respectively, then:/ एक शĀॏ कॊ भॊर कोयलॕ की खॊन म७, समॏঈ तल पर श
पऻॊीी की चोटी पर ॿमशॡ w1, w2 श w3 ऻ॰ तो:

w1 < w2 > w3

w1 = w2 = w3

w1 < w2 < w3

w1 > w2 > w3

Correct Answer :­w1 < w2 > w3 

41)

Question Stimulus :­

In the given circuit, the current is:/ ोदयॕ गयॕ ोचআ म७ धॊरॊ ऻॖ:

1.0 A from A to C via B/ B ऻोतॕ ॽए, A सॕ C, 1.0 A

1.0 A from C to A via B/ B ऻोतॕ ॽए, C सॕ A, 1.0 A

3.0 A from A to C via B/ B ऻोतॕ ॽए, A सॕ C, 3.0 A

3.0 A from C to A via B/ B ऻोतॕ ॽए, C सॕ A, 3.0 A

Correct Answer :­3.0 A from A to C via B/ B ऻोतॕ ॽए, A सॕ C, 3.0 A 

42)

Question Stimulus :­

A particle falls towards the earth from infinity, its velocity on reaching the earth would



be:/ एक कण अनĀ सॕ प॑Āी की ओर ोगरतॊ ऻॖ। प॑Āी पर पॠॽचनॕ पर इसकॊ शॕग ऻोगॊ:

Infinite/अनĀ

gR

Correct Answer :­  

43)

Question Stimulus :­

Which configuration of transistor is used to construct NOT logic gate:/ ट३ ॊॠोजĀर कॊ कग़न­सॊ
अोभोशကॊस NOT ကॊरक बनॊनॕ मॕ ঋयोग लॊतॕ ऻ॰?

CE

CB

CC

All the above/ उपरोঢ सभी

Correct Answer :­CE 

44)

Question Stimulus :­

Calculate  the binding energy of 7N14  from  the  following data:/  ोनĀ  कॕ आधॊर पर

7N14 कॕ नॊोभक की बॠधन ऊजॊ१ Āॊत करो:

mH = 1.00783 u = mass of hydrogen atom/ mH = 1.00783 u = ऻॊइड३ ोिन अणॏ कॊ
ঈကमॊन

mn  =  1.00867  u  = mass  of  a  free  neutron/ mn  =  1.00867  u  = Āतॠআ  ကूट३ ॗन कॊ
ঈကमॊन

mN =14.00307 u = mass of an atom of N14/ mN =14.00307 u = N14 कॕ एक अणॏ कॊ ঈကमॊन

104.7 MeV

8.8 MeV



100 J

15.5 MeV

Correct Answer :­104.7 MeV 

45)

Question Stimulus :­

When radiations of wavelength 3000Å are incident on a photosensitive surface,
the kinetic energy of electrons is 2.5 eV. The stopping potential for radiations of
wavelength 1500Å will be:/ जब 3000Å तरॠगदॖĀ१ की ोशोकरण एक ঋकॊश सतऻ पर आपोतत
ऻोती ऻॖ तो इलॕঠ३ ॊनो ॠ की गोतज ऊजॊ१ 2.5 eV ऻॖ तो 1500Å तरॠगदॖĀ१ की ोशोकरण कॕ ोलए ोनरोधी ोशभश
ऻोगॊ:     

Vs = 2.5 V

Vs = 5.0 V

2.5 ≤ Vs ≤ 5.0 V

Vs > 5.0 V

Correct Answer :­2.5 ≤ Vs ≤ 5.0 V 

46)

Question Stimulus :­

If V is the potential difference between the plates of parallel plate capacitor and d is
separation between plates, then the electrostatics energy per unit volume is:/ योद एक
समॊĀर पĀ सॠधॊौरআ की ကॕटो ॠ कॕ मĀ ोशभशॊĀर V तथॊ अलगॊश (प॑थজरण) d ऻो तो इकॊई आयतन की ोशद्यॏ त
्Āथोतज ऊजॊ१ ऻॖ:

Correct Answer :­  



47)

Question Stimulus :­

Two vibrating tuning forks produce progressive wave given by : y1 = 4 sin(500 t) and

y2 = 2 sin(506 t). These tuning forks are held near the ear of a person. The person will

hear:/ दी ॽई ঋगॊमी तरॠ गॕ : y1 = 4 sin(500 t) और y2 = 2 sin(506 t) दो क्Āत Āौरআ ोကभॏजो ॠ ကॊरॊ
उĀĀ की जॊती ऻ॰। इन Āौरআ ोကभॏजो ॠ को एक आदमी कॕ कॊन कॕ पॊस रखॊ जॊतॊ ऻॖ, तो आदमी सॏनॕगॊ:

3 beats/s with intensity ratio between maxima and minima equal to 2./ 3 ोशĀॠद/
सॕ. कॕ सॊथ अोधकतम तथॊ ကूनतम ती঑तॊ कॊ अनॏपॊत 2

3 beats/s with intensity ratio between maxima and minima equal to 9./ 3 ोशĀॠद/सॕ.
कॕ सॊथ अोधकतम तथॊ ကूनतम ती঑तॊ कॊ अनॏपॊत 9

6 beats/s with intensity ratio between maxima and minima equal to 2./ 6 ोशĀॠद/सॕ.
कॕ सॊथ अोधकतम तथॊ ကूनतम ती঑तॊ कॊ अनॏपॊत 2

6 beats/s with intensity ratio between maxima and minima equal to 9./ 6 ोशĀॠद/सॕ.
कॕ सॊथ अोधकतम तथॊ ကूनतम ती঑तॊ कॊ अनॏपॊत 9

Correct Answer :­3 beats/s with intensity ratio between maxima and minima equal
to 9./ 3 ोशĀॠद/सॕ. कॕ सॊथ अोधकतम तथॊ ကूनतम ती঑तॊ कॊ अनॏपॊत 9 

48)

Question Stimulus :­

A simple oscillator has an amplitude A and time period T. The time required by

it to travel from x = A to x =   is:/ एक सरल दोोलআ कॊ आयॊम A तथॊ आशत१कॊल T  ऻॖ। x =

A सॕ x =    तक आनॕ म७ लगॊ समय ऻोगॊ:

Correct Answer :­  



49)

Question Stimulus :­

A couple of 105 N–m is applied to a flywheel of mass 10 kg and radius of gyration 50m.
Then the angular acceleration of the wheel is (in rad/s2):/ 105 ကूटन मीटर कॊ यॏ৒ एक
गोतपॊलक चॿ पर आरोोपत ऻॖ ोजसकॊ ঈကमॊन 10 ोकঁॊ तथॊ घूण१न ोআĀॊ 50 मीटर ऻॖ। पोऻयॕ कॊ कोणीय ကरण
(रॕोडयन/सॕ2) म७ ऻोगॊ:

200

50

10

4

Correct Answer :­4 

50)

Question Stimulus :­

What will be the colour of sky as seen from the earth, if there were no atmosphere?/
योद शॊतॊशरण न ऻो तो प॑Āी सॕ दॕखनॕ पर आकॊश कॊ रॠग ভॊ ऻोगॊ?

Black/ कॊलॊ

Blue/ नीलॊ

Orange/ नॊरॠगी

Red/लॊल

Correct Answer :­Black/ कॊलॊ 

Topic:­ Chemistry
1)

Question Stimulus :­

Reaction A + B   C + D + 38 kcal has activation energy 20 kcal. Activation
energy for the reaction C + D   A + B is:/ अोभोॿयॊ A + B   C + D + 38 kcal की
सोॿयण ऊजॊ१ 20 kcal ऻॖ। अोभोॿयॊ C + D   A + B  की सोॿयण ऊजॊ१ ऻोगी:

28 kcal

–20 kcal



18 kcal

58 kcal

Correct Answer :­58 kcal 

2)

Question Stimulus :­

For the reaction: / अोभोॿयॊ :

C(graphite) +  O2(g)   CO(g) at 300K and 1 atm ∆H = –26.4 kcal. / C(ঁॕफॊइट) + 

O2(गॖस)   CO(गॖस) कॕ ोलए 300K और 1 atm पर ∆H = –26.4 kcal ऻॖ । (R = 0.002 kcal
mol–1 k–1)

What is ∆E:/ ∆E ভॊ ऻोगॊ:

– 26.1 kcal

–26.7 kcal

–37.4 kcal

0

Correct Answer :­–26.7 kcal 

3)

Question Stimulus :­

CH3CH2OH + Cl2   A

What is A in the above reaction?/उपरोঢ अोभोॿयॊ म७ A ভॊ ऻॖ?

CH3CCl2OH

CCl3CH2OH

CH3CHO

C2Cl5OH

Correct Answer :­CH3CHO 

4)



Question Stimulus :­

The decreasing order of the second ionization potential of K, Ca and Ba is:/ K, Ca श Ba कॕ
ोကतीय आयनन ोशभश कॊ घटतॊ ॿम ऻॖ:

K > Ca > Ba

Ca > Ba > K

Ba > K > Ca

K > Ba > Ca

Correct Answer :­K > Ca > Ba 

5)

Question Stimulus :­

The amount of electricity that should be passed through CuSO4 solution with Cu
electrodes to deposite 0.1 gram atom at Cu:/ CuSO4 कॕ ोशलयन म७ Cu इलॕঠ३ ॗड कॕ ကॊरॊ ঋशॊोऻत
ोशद्यॏ त की मॊআॊ ोजससॕ 0.1 ঁॊम परमॊणॏ Cu कॕ जमॊ ऻो जॊएॡ

9650 Coulombs/9650 कूलॊम

96500 Coulombs/96500 कूलॊम

19300 Coulombs/19300 कूलॊम

193000 Coulombs/ 193000 कूलॊम

Correct Answer :­19300 Coulombs/19300 कूलॊम 

6)

Question Stimulus :­

Which of the following will react with water?/ ोनĀ म७ सॕ कग़न जल सॕ ोॿयॊ करॕगॊ?

Cl3CCHO

CH3COCH3

CH3CHO

HCHO

Correct Answer :­Cl3CCHO 



7)

Question Stimulus :­

Which compound has D–configuration?/ कग़न सॕ यग़ोगक कॊ D­ोशကॊस ऻॖ?

Correct Answer :­  

8)

Question Stimulus :­

What is the OH– concentration of an aqueous solution of a substance whose pH = 3.2?/
pH = 3.2 शॊलॕ पदॊथ१ कॕ जलीय ोशलयन की OH– आयन सॊကतॊ ভॊ ऻोगी?

10­3.8

10­3.2

10­10.8

10­10.2

Correct Answer :­10­10.8 



9)

Question Stimulus :­

To prepare a solution that is 0.50 M KCl starting with 100 ml, of 0.40 M KCl: (Mol. wt =
75):/ 100 ml, 0.40 M KCl (Mol. wt = 75) कॊ ঋयोग कर KCl कॕ 0.50 M ोशलयन बनॊनॕ कॕ ोलए:

Add 0.75 g KCl/0.75 g KCl ोमलॊनॊ ऻोगॊ

Add 20 ml of water/20 ml जल ोमलॊनॊ ऻोगॊ

Add 0.10 mol KCl/0.10 mol KCl ोमलॊनॊ ऻोगॊ

Evaporate 10 ml water/10 ml जल शॊ्Āत करनॊ ऻोगॊ

Correct Answer :­Add 0.75 g KCl/0.75 g KCl ोमलॊनॊ ऻोगॊ 

10)

Question Stimulus :­

The ionic mobility of alkali metal ions in aqueous solution is maximum for:/ ोकस ঴ॊरीय
धॊतॏ आयन की जलीय ोशलयन म७ आयोनक गोतशीलतॊ अोधकतम ऻॖ?

K+

RB+

Li+

Na+

Correct Answer :­RB+ 

11)

Question Stimulus :­

Heat capacity at constant temperature and constant pressure for H2 is:/ H2 गॖस कॕ ोलए
ोनयत तॊप और दॊब पर ऊĀॊ धॊौरतॊ ऻोगीॡ

5 cal mol–1 K–1

7 cal mol–1 K–1

8 cal mol–1K–1

∞

Correct Answer :­∞ 



12)

Question Stimulus :­

The number of unit cells in 58.5 g of NaCl is approximately:/ 58.5 g of NaCl म७ इकॊई सॕलो ॠ
की सॠূॊ लगभग ऻोगी:

6 × 1020

1.5 × 1023

6 × 1023

0.5 × 1024

Correct Answer :­1.5 × 1023 

13)

Question Stimulus :­

34.2 gm of cane sugar is dissolved in 180 gm of water. The relative lowering of vapour
pressure will be:/ शक१ रॊ कॊ 34.2 ঁॊम, 180 ঁॊम पॊनी म७ घॏलॊ ॽआ ऻॖ तो शॊĀ दॊब म७ आपॕो঴क अशनमन
ऻोगॊ:

0.0099

1.1597

0.840

0.9901

Correct Answer :­0.0099 

14)

Question Stimulus :­

.......CH=CH.......+H2   ..... CH2–CH2...... Promoters in this reaction can be:/

.......CH=CH.......+H2   ..... CH2–CH2...... इस अोभोॿयॊ म७ शध१क ऻो सकतॕ ऻ॰:

Cu, Te

Cu, Fe

Mo, Fe



Al2O3, Cr2O3

Correct Answer :­Cu, Te 

15)

Question Stimulus :­

The enthalpy of combustion of cyclohexane, cyclohexene and H2 are respectively
3920,–3800 and –241 kJ mol–1. The heat of hydrogenation of cyclohexene is:/
सॊइমोऻॕসॕन, सॊइমोऻॕসीन और H2 कॕ दऻन की उĀॊ ॿमशॡ 3920,–3800 और –241 kJ mol–1 ऻॖ तो
सॊइমोऻॖসीन कॕ ऻॊइड३ ोजनीकरण की ऊĀॊ ऻोगी:

– 121 kJ mol–1

+121 kJ mol–1

–242 kJ mol–1

+242 kJ mol–1

Correct Answer :­– 121 kJ mol–1 

16)

Question Stimulus :­

Pb and Sn are extracted from their chief ore by:/ Pb श Sn कॊ उनकॕ मॏূ अयĀ म७ सॕ ोनĀह१ण
ोकयॊ जॊतॊ ऻॖ:

Carbon reduction and self­reduction/ कॊब१न अपचयन श Āतॡ अपचयन ကॊरॊ

Self­reduction and carbon reduction/ Āतॡ अपचयन श कॊब१न अपचयन

Electrolysis and self­reduction/ ोशद्यॏ त अपघटन श Āतॡ अपचयन

Self­reduction and electrolysis/ Āतॡ अपचयन श ोशद्यॏ त अपघटन

Correct Answer :­Self­reduction and carbon reduction/ Āतॡ अपचयन श कॊब१न अपचयन 

17)

Question Stimulus :­

Gold is extracted by hydrometallurgical process, based on its property:/ Āण१ अपनी ोनĀ
ोशशॕहतॊ कॕ आधॊर पर जलीय धॊतॏकम१ ကॊरॊ ोनĀोह१त ोकयॊ जॊतॊ ऻॖ:

Of being electropositive/ ोशद्यॏ त धनॊĀकतॊ कॕ कॊरण



Of being less reactive/ कम ोॿयॊशीलतॊ कॕ कॊरण

To form complexes which are water soluble/ जल म७ ोशलॕय जोटल ोनमॊ१ण कॕ कॊरण

To form salts which are water soluble/ लशण जो जल म७ ोशलॕय ऻ॰ कॕ ोनमॊ१ण कॕ कॊरण

Correct Answer :­To form complexes which are water soluble/ जल म७ ोशलॕय जोटल ोनमॊ१ण कॕ
कॊरण 

18)

Question Stimulus :­

Which one of the following statements is true for all the alkali metals?/ सभी ঴ॊरीय धॊतॏ कॕ ोलए
ोनĀोल्खत म७ सॕ कग़न सॊ एक सĀ ऻॖ?

Their nitrates decompose on heating to give NO2 and O2/ उनकॕ नॊइट३ ॕट गम१ करनॕ पर
ोशयोोजत ऻोकर NO2 तथॊ O2 दॕतॕ ऻ॰

Their carbonates decompose on heating to give CO2 and the metal oxide/ उनकॕ
कॊबॳनॕट गम१ करनॕ पर CO2 तथॊ धॊ्ကक आসॊइड दॕतॊ ऻॖ

They react with excess oxygen to give mainly the oxide M2O/ शऻ आসीजन की
अोधकतॊ सॕ अोभोॿयॊ कर मॏূतयॊ M2O आসॊइड बनॊतॊ ऻॖ

They react with halogen to give the halides MX/ शऻ ऻॖलोजन सॕ अोभोॿयॊ कर MX ऻॖलॊइड
बनॊतॊ ऻॖ

Correct Answer :­They react with halogen to give the halides MX/ शऻ ऻॖलोजन सॕ अोभोॿयॊ
कर MX ऻॖलॊइड बनॊतॊ ऻॖ 

19)

Question Stimulus :­

For a third order reactions: 3X   Y + Z the initial rate is 5 × 10–2 mol L–1S–1

when the concentration of X is 0.1 mol L–1. The value of rate constant for the
reaction is:/ एक त॑तीय कोोट की अोभोॿयॊ 3X   Y + Z  कॕ ोलए ঋॊर्Āक दर 5 × 10–2 mol L–
1S–1  ऻॖ जब xकी सॊကतॊ 0.1 mol L–1 ऻॖ। अोभोॿयॊ कॕ ोलए दर ोनयतॊॠक ऻॖ:

5 × 10–2 L2 mol–2s–1

5 × 10–3 L2 s–1

5 × 10–4 L2  mol–2s–1

50 L2 mol–2 s–1



Correct Answer :­50 L2 mol–2 s–1 

20)

Question Stimulus :­

Which of the following will not show geometrical isomerism?/ ोनĀोल्खत म७ सॕ कग़न Āॊोमतीय
समॊशयशतॊ ঋदोश१त नऻी ॠ करॕगॊ?

[Co(OX)3]3–

[Co(en)2Cl2]Cl

[Cr(NH3)4Cl2]Cl

All the above/ उपरोঢ सभी

Correct Answer :­[Co(OX)3]3– 

21)

Question Stimulus :­

When NaOH pallets are left­open in air, they acquire a fluid layer around each
pallet because:/ जब NaOH  पॖलॕट शॊयॏ म७ खॏलॊ रखॊ जॊतॊ  ऻॖ तो उस  पॖलॕट पर एक ঈशीय परत आ जॊती  ऻॖ,
ভोॠोक:

They start melting/ शऻ गलनॊ शॏॺ ऻो जॊतॊ ऻॖ

They absorb moisture from air/ शऻ शॊयॏ सॕ नमी अशशोोहत कर लॕतॊ ऻॖ

They absorb CO2 from air/ शऻ शॊयॏ सॕ CO2 अशशोोहत कर लॕतॊ ऻॖ

They react with air to form a liquid compound/ शऻ शॊयॏ सॕ अोभोॿयॊ कर ঈशीय यग़ोगक बनॊतॊ
ऻॖ

Correct Answer :­They absorb moisture from air/ शऻ शॊयॏ सॕ नमी अशशोोहत कर लॕतॊ ऻॖ 

22)

Question Stimulus :­

In the Wurtz reaction with ethyl chloride, major product is:/ एोथल মोरॊइड कॕ सॊथ शॏट्१ज
अोभोॿयॊ म७ मॏূ उĀॊद ऻोगॊ:

CH3CH2CH2CH3



CH3CH3

CH3CH2CH3

Correct Answer :­CH3CH2CH2CH3 

23)

Question Stimulus :­

When CO2 is bubbled through a solution of barium peroxide in water:/ बॕौरयम परॊসॊइड कॕ
जल कॕ ोशलयन म७ CO2 ঋशॊोऻत करनॕ पर:

O2 is released/O2 मॏঢ ऻोती ऻॖ

Carbonic acid is formed/ कॊबॳोनक अĀ बनतॊ ऻॖ

H2O2 is formed/ H2O2 बनतॊ ऻॖ

No reaction occurs/ कोई अोभोॿयॊ नऻी ॠ ऻोती ऻॖ

Correct Answer :­H2O2 is formed/ H2O2 बनतॊ ऻॖ 

24)

Question Stimulus :­

Which of the following is least stable?/ ोनĀोल्खत म७ सॕ कग़न ကूनतम Āथॊयी ऻॖ?



Correct Answer :­  

25)

Question Stimulus :­

The IUPAC name of   is:/   कॊ IUPAC नॊम ऻॖ

1, 6–Dimethyl cyclohexene/1, 6­डॊईमॕोथल सॊइমोऻॕসीन

2, 3–Dimethyl cyclohexene/2, 3­डॊईमॕोथल सॊइমोऻॕসीन

1, 3–Dimethyl cyclohexene/1, 3­डॊईमॕोथल सॊइমोऻॕসीन

1, 3–Dimethyl cyclohex–2–ene/1, 3­डॊईमॕोथल सॊइমोऻॕস­2­ईन

Correct Answer :­1, 3–Dimethyl cyclohexene/1, 3­डॊईमॕोथल सॊइমोऻॕসीन 

26)

Question Stimulus :­

Among the oxides given below which are acidic:/ नीचॕ ोदयॕ गयॕ आসॊइड म७ सॕ अĀीय
आসॊइड ऻ॰:

I.     (CrO3)                       

II.    (NiO)                         

III.   (Mn2O7)                     

IV.    (SO2)

V.     (CO)

I, III, IV

I, II

III, IV

III, V

Correct Answer :­I, III, IV 

27)



Question Stimulus :­

Which of the following alkene will show maximum hyper conjugation effect:/ ोनĀ म७ सॕ
कग़नसी एĀीन अोधकतम अोतसॠयॏ৒न ঋभॊश दशॊ१ती ऻॖ:

Correct Answer :­  

28)

Question Stimulus :­

A complex of platinum, ammonia and chlorine produces four ions per molecule in the
aqueous solution. The structure pertaining to above observations is: ကॕटीनम, अमोोनयॊ तथॊ
মोरीन कॊ एक जोटल जलीय ोशलयन म७ ঋोत अणॏ चॊर आयन दॕतॊ ऻॖ ोदयॕ गयॕ ঋॕ঴ण कॕ अनॏसॊर सॠरचनॊ ऻॖ:

Hexaamminen platinum (IV) chloride/ ऻॖসॊअमीन ကॕटीनम (IV) মोरॊइड

Pentaammine chloro platinum (IV) chloride/ पॕကॊएमीन মोरो ကॕटीनम (IV) মोरॊइड

Diammine tetrachloro platinum (IV)/ डॊईएमीन टॕटॊমोरो ကॕटीनम (IV)

Tetraammine dichloro platinum (IV) chloride/ट३ ॕटॊएमीन डॊईমोरो ကॕटीनम (IV) মोरॊइड

Correct Answer :­Pentaammine chloro platinum (IV) chloride/ पॕကॊएमीन মोरो ကॕटीनम
(IV) মोरॊइड 

29)

Question Stimulus :­



In the reaction   the conjugate base of   is:/ अोभोॿयॊ 
   म७   कॊ सॠयॏ৒ी ঴ॊर ऻोगॊ:

None of the above/ उपरोঢ म७ सॕ कोई नऻी

Correct Answer :­  

30)

Question Stimulus :­

Proteins are made up of:/ ঋोटीन ोकसकॕ बनॕ ऻोतॕ ऻॖ?

Amino acids/ एमीनो एोसड

Nucleosides/ ကू्মओसॊइड्स

Phospholipids/ फॊĀोोलोपड्स

Fats/ शसॊ

Correct Answer :­Amino acids/ एमीनो एोसड 

31)

Question Stimulus :­

A hybrid rocket propellant uses:/ एक ोमो঒त रॊकॕट ঋणोदक म७ उपयोग ऻोतॊ ऻॖ:

A liquid oxidizer and a solid fuel/ एक ঈश आসीकॊरक एशॠ ठोस ईॠधन

A composite solid propellant/ एक सॠयॏঢ ठोस ঋणोदक

A biliquid propellant/ एक ोကঈशीय ঋणोदक

A solid, liquid and gas as a propellant/ एक ठोस, ঈश और गॖस ঋणोदक कॕ ॺप म७

Correct Answer :­A liquid oxidizer and a solid fuel/ एक ঈश आসीकॊरक एशॠ ठोस ईॠधन 

32)

Question Stimulus :­



Which is insoluble in NaOH solution?/ कग़नसॊ यग़ोगक NaOH ोशलयन म७ अोशलॕय ऻॖ?

CH3NO2

(CH3)2CHNO2

C6H5NO2

CH3CH2NO2

Correct Answer :­C6H5NO2 

33)

Question Stimulus :­

The number of significant figures in 0.0035 are:/ 0.0035 म७ सॊथ१क अॠको ॠ की सॠূॊएँ ऻॖ:

2

3

4

5

Correct Answer :­2 

34)

Question Stimulus :­

The hybrid state of phosphorus in POCl3 is:/ POCl3 म७ फॗĀोरस की सॠकौरत अशĀथॊ ऻॖ:

sp3

sp3d

dsp2

dsp3

Correct Answer :­sp3 

35)

Question Stimulus :­

Which test is not shown by acetaldehyde?/ एसीटॕ्Āऻॊइड कग़नसॊ परी঴ण नऻी ॠ दॕतॊ ऻॖ?



Tollen’s test/ टॊलॕन परी঴ण

Fehling’s test/ फॕऻोलॠग परी঴ण

Lucas test/ Āूकॊस परी঴ण

All the above/ उपरोঢ सभी

Correct Answer :­Lucas test/ Āूकॊस परी঴ण 

36)

Question Stimulus :­

Which of the following compounds does not give carbyl amine test?/ ोनĀ म७ सॕ कग़नसॊ
यग़ोगक कॊोब१ल ऐमीन परी঴ण नऻी ॠ दॕतॊ ऻॖ?

CH3CH2–NH2

CH3–NH–CH3

Correct Answer :­CH3–NH–CH3 

37)

Question Stimulus :­

Number of Faraday required to liberate 8 gm of H2 is:/ 8 ঁॊम H2 उĀĀ करनॕ कॕ ोलए आशĀक
फॖरॊडॕ की सॠূॊ ऻॖ:

8

16

4

2

Correct Answer :­8 

38)



Question Stimulus :­

Among the following most basic compound is?/ ोनĀोल्खत म७ सॕ कग़न सशॊ१ोधक ঴ॊरीय यग़ोगक ऻॖ?

Aniline/एोनलीन

Acetanilide/एसीटॕनीलॊइड

Pyrolle/पॊयरोल

Benzyl amine/ ब॰ोजल ऐमीन

Correct Answer :­Benzyl amine/ ब॰ोजल ऐमीन 

39)

Question Stimulus :­

Which of the following is aromatic compound?/ ोनĀ म७ सॕ कग़नसॊ ऐरोमॕोटक यग़ोगक ऻॖ?

Correct Answer :­  

40)

Question Stimulus :­

A green coloured solution of some salt changes its colour to light pink on passing ozone
through it. Which of following species represent pink and green colour respectively?/
ोकसी लशण कॕ ऻरॕ रॠग कॕ ोशलयन म७ सॕ ओजोन गॖस को ঋशॊोऻत करनॕ पर यऻ ऻĀॕ गॏलॊबी रॠग म७ बदल जॊतॊ ऻॖ ोनĀ म७



सॕ कग़नसी ঋजॊोत ॿमशॡ गॏलॊबी श ऻरॕ रॠग को ঋदोश१त करॕगी?

  /

 / 

/ 

Cu+ and Cu2+/ Cu+ और Cu2+

Correct Answer :­ /   

41)

Question Stimulus :­

Major product will be:/ मॏূ उĀॊद ऻोगॊ:

Correct Answer :­  

42)

Question Stimulus :­

Which is incorrect statement?/ कग़नसॊ कथन असĀ ऻॖ?

PVC is a polymer of vinyl chloride/ PVC, शॊइोनल মोरॊइड कॊ बॽलक ऻॖ



Chloroprene is a monomer of neoprene/ মोरोঋीन, ोनओঋीन कॊ एकलक ऻॖ

Teflon is a polymer of acrylonitrile/ टॕĀॊन, एोॿलोनॊइट३ ॊइल कॊ बॽलक ऻॖ

Bakelite is a thermosetting polymer of phenol and farmaldehyde/ बॕकॕलॊइट, फीनॗल
तथॊ फॊम८्Āऻॊइड सॕ बननॕ शॊलॊ तॊपĀु बॽलक ऻॖ।

Correct Answer :­Teflon is a polymer of acrylonitrile/ टॕĀॊन, एोॿलोनॊइट३ ॊइल कॊ बॽलक ऻॖ 

43)

Question Stimulus :­

The volume of water which must be added to a mixture of 350 cm3 of 6M HCl
and 650 mL of 3M HCl to get a resulting solution of 3M concentration is:/ 6M
Hcl कॕ  350 cm3  तथॊ  3M HCl कॕ 650 mL ोम঒ण म७ पॊनी कॊ ोकतनॊ आयतन ोमलॊयॊ जॊए ोजससॕ
पौरणॊमी ोशलयन की सॊကतॊ 3M ऻो जॊए?

75 mL.

150 mL.

100 mL.

350 mL.

Correct Answer :­350 mL. 

44)

Question Stimulus :­

Which of the following statements is true for lithium?/ ोलोथयम कॕ ोलयॕ ोनĀ म७ कग़नसॊ कथन सĀ
ऻॖ?

It is the most abundant alkali metal/ ঴ॊरीय धॊतॏओॠ म७ अोधकतम ঋचॏर

It has the lowest melting point among alkali metals/ ঴ॊरीय धॊतॏओॠ म७ ကूनतम गलनॊॠक

It is the hardest alkali metal/ ঴ॊरीय धॊतॏओॠ म७ अोधकतम कठोर

It is the most reactive alkali metal/ ঴ॊरीय धॊतॏओॠ म७ अोधकतम ोॿयॊशील

Correct Answer :­It is the hardest alkali metal/ ঴ॊरीय धॊतॏओॠ म७ अोधकतम कठोर 

45)

Question Stimulus :­



In which of the following species back­  bonding exists?/ ोनĀ म७ सॕ ोकसम७ पĀ  ­बॠधन
उप्Āथत ऻॖ?

NF3

NH3

BF3

Correct Answer :­BF3 

46)

Question Stimulus :­

Which is maximum reactive with NaNH2?/ NaNH2 कॕ सॊथ कग़न सशॊ१ोधक ोॿयॊशील ऻॖ?

CH3–CH2–CH2–I

Correct Answer :­  

47)

Question Stimulus :­

In a body–centered cubic cell (bcc) of lattice parameter a, the atomic radius
is:/कॊय कॕကीय घन सॠरचनॊ (bcc) की सीमॊĀ लĀॊई  ऻो तो परमॊणॏ की ोআĀॊ ऻोगी:



Correct Answer :­  

48)

Question Stimulus :­

Property of colloidal particle is:/ कोलॊइडी कण कॊ गॏण ऻॖ:

Attraction of medium/ मॊĀम कॊ आकह१ण

Tyndal effect/ ोटĀल ঋभॊश

Emulsion/ इमĀशन

Dialysis/ अपोऻन

Correct Answer :­Tyndal effect/ ोटĀल ঋभॊश 

49)

Question Stimulus :­

An element A has outer shell configuration of 5s25p6. If forms covalent compounds AF2
with fluorine. The orbitals used by A for bonding are:/ एक तက A कॕ बॊĀतम कोह कॊ ोशကॊस
5s25p6 ऻॖ यऻ Āोरीन कॕ सॊथ सऻसॠयोजी यग़ोगक AF2 बनॊतॊ ऻॖ। A कॕ ကॊरॊ बॠध म७ उपयोग म७ ली गई क঴क ऻॖ:

d­orbitals/d­क঴क

p­orbitals/p­क঴क

sp­hybridised orbital/sp­सॠकौरत क঴क

sp3d hybrid orbitals/ sp3d सॠकौरत क঴क

Correct Answer :­sp3d hybrid orbitals/ sp3d सॠकौरत क঴क 

50)

Question Stimulus :­



Beryllium fourth electron will have the four quantum numbers:/ बॕौरलीयम कॕ चोथॕ इलॕঠ३ ॊन कॕ
ोलए चॊर রॊॠटम सॠূॊओॠ कॕ मॊन ऻो ॠगॕ

n m s
1 0 0 1/2

n m s
1 1 1 1/2

n m s
2 0 0 ­1/2

n m s
2 1 0 +1/2

Correct Answer :­
n m s
2 0 0 ­1/2

Topic:­ Botany
1)

Question Stimulus :­

Viruses that infect bacteria, multiply and cause their lysis are called:/ उन ोशहॊणॏओॠ को ভॊ कऻतॕ ऻ॰,
जो जीशॊणॏओॠ म७ सॠॿमण करतॕ, उनकॕ भीतर ঋगॏणन करतॕ और उनकॊ अपघटन कर दॕतॕ ऻ॰?

Lipolytic/ शसॊ­अपघटनी

Lytic/ लयनी

Lysogenic/ लयजनी

Lysozymes/ लॊइसोजॊइम

Correct Answer :­Lytic/ लयनी 

2)

Question Stimulus :­

There are three genes a, b and c. The percentage of crossing over between a
and b is 20%, b and c is 28% and a and c is 8%. What is the sequence of genes

on chromosome ?/ तीन जीĀ a, b, c ऻ॰। a तथॊ b कॕ मĀ ॿॊोसॠग आशर 20%, b  तथॊ c कॕ मĀ



on chromosome ?/ तीन जीĀ a, b, c ऻ॰। a तथॊ b कॕ मĀ ॿॊोसॠग आशर 20%, b  तथॊ c कॕ मĀ
28% तथॊ a श c कॕ मĀ  8% ऻॖ, तो इन तीनो ॠ जीĀ की गॏणसूআ पर ကशĀथॊ ভॊ ऻोगी?

b, a, c

a, b, c

a, c, b

None of these/ इनम७ सॕ कोई नऻी ॠ

Correct Answer :­b, a, c 

3)

Question Stimulus :­

Casparian bands are found in:/ कॖĀॕौरपन पोĀयॊँ पॊयी जॊती ऻ॰:

Endodermis/ अĀĀကचॊ म७

Pericycle/ पौररĀ म७

Periderm/ पॕौरडम१ म७

Cortex/ शĀॏ ट म७

Correct Answer :­Endodermis/ अĀĀကचॊ म७ 

4)

Question Stimulus :­

Proteinaceous pigment which control the activities concerned with light:/ ঋोटीनॕोशयस शण१क जो
ঋकॊश सॕ सĀ्Āत ोॿयॊओॠ को ोनयॠोআत करतॊ ऻॖ:

Phytochrome/ फॊइटोॿोम

Chlorophyll/ মोरोोफल

Anthocyanin/ एĀोसॊयोनन

Carotenoids/ कॕरोोटनॗयड्स

Correct Answer :­Phytochrome/ फॊइटोॿोम 

5)

Question Stimulus :­



The apical meristem of the root is present:/ जी कॊ शीह१Āथ ोशभĀोतक पॊयॊ जॊतॊ ऻॖ:

Only in radicals/ कॕशल मूलॊॠकरो ॠ म७

Only in tap roots/ कॕशल मूसलॊ जीो म७

Only in adventitious roots/ कॕशल अपĀथॊोनक जीो ॠ म७

All the above / उपरोঢ सभी

Correct Answer :­All the above / उपरोঢ सभी 

6)

Question Stimulus :­

For a critical study of secondary growth in plants, which one of the following pairs is
suitable?/ पग़धो ॠ म७ ोကतीयक श्॑Ā कॕ ोशशॕचनॊĀक अĀयन कॕ ोलए, ोनĀोल्खत म७ सॕ कग़नसॊ एक जोीॊ उपयॏঢ ऻॖ?

Wheat and maiden hair fern/गॕॾँ तथॊ मॕडन ऻॕयर फन१

Sugarcane and sunflower/गĀॊ तथॊ सूरजमॏखी

Teak and pine/सॊगग़न तथॊ चीी

Deodar and fern/दॕशदॊर तथॊ फन१

Correct Answer :­Teak and pine/सॊगग़न तथॊ चीी 

7)

Question Stimulus :­

Which one of the following pairs of plants are not seed producers?/ ोनĀ म७ सॕ ोकस एक पॊदप जोीॕ म७
बीज नऻी ॠ बनतॕ?

FeƌŶ and FuŶaƌia/ फन१ और зूनॕौरयॊ

FuŶaƌia and Ficus/ зूनॕौरयॊ तथॊ फॊइकस

Ficus and ChlaŵǇdoŵoŶas/ फॊइकस तथॊ মॖोमडोमोनॊस

PuŶica and PiŶus/ Āूोनकॊ तथॊ पॊइनस

Correct Answer :­FeƌŶ and FuŶaƌia/ फन१ और зूनॕौरयॊ 

8)

Question Stimulus :­

In which kingdom would you classify the archaea and nitrogen­fixing organisms, if the five­



kingdom system of classification is used:/ पॊँच­जगत शग५करण म७ आक५यॊ तथॊ नॊइट३ ोजन ्Āथरीकॊरी जीशो ॠ को
आप ोकस जगत म७ रख७गॕ?

Plantae/ ကॊॠटी

Fungi/ फॠ जॊई

Protista/ ঋोोटĀॊ

Monera/ मोनॕरॊ

Correct Answer :­Monera/ मोनॕरॊ 

9)

Question Stimulus :­

Which of the following is used to manufacture ethanol from starch?/ Āॊच१ सॕ ऐथॕनॗल बनॊनॕ कॕ ोलए
ोकसकॊ उपयोग ोकयॊ जॊतॊ ?

Penicilline/ पॕोनसीोलन

Saccharomyces/ सॕॿोमॊइोसज

Azotobactor/ ऐजॕटोबॕঠर

Lactobacillus/ लॕঠोबॕोसलस

Correct Answer :­Saccharomyces/ सॕॿोमॊइोसज 

10)

Question Stimulus :­

Indicator of water pollution:/जल ঋदूहण कॊ सूचक:

E. Coli/ ई.कोलॊई

Chloƌella/মोरॕलॊ

Beggiatoa/बॖगीटोआ

Ulothƌiǆ/यूलोोȷস

Correct Answer :­E. Coli/ ई.कोलॊई 

11)

Question Stimulus :­

Bicarpellary gyanoecium and oblique ovary occurs in:/ ोကअĀपी जॊयॊॠग तथॊ ोतरछॊ अĀॊशय ोकसम७ पॊयॊ



जॊतॊ ऻॖ?

Mustard/ सरसो ॠ

Banana/ कॕलॊ

Pisum/ मटर

Brinjal/ ब॰गन

Correct Answer :­Brinjal/ ब॰गन 

12)

Question Stimulus :­

What change occurs by changing one base in DNA:/DNA म७ एक ঴ॊर बदलनॕ सॕ ভॊ पौरशत१न ऻोगॊ?

Always a change of one amino acid in protein/ ঋोटीन म७ एक अमीनो अĀ कॊ ऻमॕशॊ पौरशत१न

Change in complex sequence of amino acid/ अमीनो अĀोॠ कॕ सĀूण१ ॿम म७ पौरशत१न

Always a change in property of protein/ ঋोटीन कॕ गॏण म७ ऻमॕशॊ पौरशत१न

Does not necessarily change the phenotype/ फीनोटॊईप म७ पौरशत१न ऻोनॊ जॺरी नऻी ॠ ऻॖ

Correct Answer :­Does not necessarily change the phenotype/ फीनोटॊईप म७ पौरशत१न ऻोनॊ जॺरी नऻी ॠ
ऻॖ 

13)

Question Stimulus :­

A.T.P is:/ ए.टी.पी. ऻोतॊ ऻॖ

Nucleotide/ ကू्মओटॊइड

Nucleoside/ ကू्মओसॊइड

Nucliec acid/ ကू्মक अĀ

Vitamin/ ोशटॊोमन

Correct Answer :­Nucleotide/ ကू्মओटॊइड 

14)

Question Stimulus :­

When dominant and recessive allels express itself together it is called:/ जब ঋभॊशी तथॊ अঋभॊशी
एलीက अपनॊ ঋभॊश सॊथ­सॊथ ঋदोश१त करती ऻॖ, तो इसॕ कऻतॕ ऻ॰:



Co–dominance/ सऻ­ঋभॊोशकतॊ

Dominance/ ঋभॊोशकतॊ

Amphidominance/उभय ঋभॊोशकतॊ

Pseudo dominance/ कूट ঋभॊोशकतॊ

Correct Answer :­Co–dominance/ सऻ­ঋभॊोशकतॊ 

15)

Question Stimulus :­

The causative agent of mad–cow disease is a:/ ‘मॖड­कॊऊ’ रोग कॊ रोगजनक कॊरक ऻोतॊ ऻॖ:

Bacterium/ जीशॊणॏ

Prion/ ঋॊइऑन

Worm/ क॑ोम

Virus/ ोशहॊणॏ

Correct Answer :­Prion/ ঋॊइऑन 

16)

Question Stimulus :­

Chlorophyll in chloroplasts is located in:/ মोरोကॊĀोॠ कॕ भीतर মोरोोफल कऻॊॠ पॊयॊ जॊतॊ ऻॖ:

Grana/ ঁॖनॊ म७

Pyrenoid/ पॊइौरनॊइड म७

Stroma/ Ā३ोमॊ म७

Both grana and stroma/ ঁॖनॊ तथॊ Ā३ोमॊ, दोनो ॠ म७

Correct Answer :­Grana/ ঁॖनॊ म७ 

17)

Question Stimulus :­

Which breaks dormancy of potato tuber:/ कग़न आलू कॕ कॠ दो ॠ म७ ঋसॏ्Ā भॠग करतॊ ऻॖ?

Gibberellin/ ोजबॕरोलन



I.A.A/ आई.ए.ए

A.B.A/ए.बी.ए

Zeatin/ ोजयॕोटन

Correct Answer :­Gibberellin/ ोजबॕरोलन 

18)

Question Stimulus :­

Insectivorous plants grow in the soil which is deficient in:/ कीटॊभ঴ी पॊदप उस भूोम म७ उगतॕ ऻ॰ जऻॊॠ ोनĀ
म७ सॕ ोकस की कमी ऻोती ऻॖ?

Mg

Ca

P

N

Correct Answer :­N 

19)

Question Stimulus :­

Which pigment absorbs the red and far–red light?/ कग़नसॊ शण१क लॊल श सॏदूर­लॊल ঋकॊश को अशशोोहत
करतॊ ऻॖ?

Cytochrome/सॊयटोॿोम

Phytochrome/फॊयटोॿोम

Carotenoids/कॕरोटीनोईड

Chlorophyll/মोरोोफल

Correct Answer :­Phytochrome/फॊयटोॿोम 

20)

Question Stimulus :­

Recently Govt. of India has allowed mixing of alcohol in petrol. What is the amount of alcohol
permitted for mixing in petrol:/ ऻॊल ऻी म७ भॊरत सरकॊर नॕ पॕट३ ोल म७ ऐĀोऻॗल को ोमलॊनॕ की मॠिूरी दॕ दी ऻॖ। पॕट३ ोल म७
ोकतनी मॊআॊ म७ एĀोऻॊल ोमलॊनॕ की इजॊजत दी गई ऻॖ?

10–15%



10%

5%

2·5%

Correct Answer :­5% 

21)

Question Stimulus :­

First life on earth was:/ प॑Āी पर ঋथम जीशन थॊ:

Cyanobacteria/सॊयनोबॖঠीौरयॊ

Archaea/आोक१ यॊ

Autotrophs/Āपोह

Photoautotrophs/ঋकॊशĀपोही

Correct Answer :­Archaea/आोक१ यॊ 

22)

Question Stimulus :­

Spoilage of oil can be detected by which fatty acid?/तॕल कॕ खरॊब ऻोनॕ को ोकस शसीय अĀ सॕ पऻचॊनॊ जॊ
सकतॊ ऻॖ?

Oleic acid/ ओोलक अĀ

Linolenic acid/ ोलनोलॕोनक अĀ

Linoleic acid/ ोलनोलॕइक अĀ

Erusic acid/ इर्१यॏोसक अĀ

Correct Answer :­Erusic acid/ इर्१यॏोसक अĀ 

23)

Question Stimulus :­

In the genetic code dictionary, how many codons are used to code for all the 20 essential
amino acids:/ आनॏशॠोशक कूट कोश म७ समĀ 20 अोनशॊय१ अमीनो अĀोॠ कॕ कोडन म७ ोकतनॕ कोडॗन कॊम म७ आतॕ ?

20

64



61

60

Correct Answer :­61 

24)

Question Stimulus :­

Which one of the following mineral elements plays an important role in biological nitrogen
fixation:/ जॖोशकीय नॊइट३ ोजन ्Āथरीकरण म७ ोनĀोल्खत म७ सॕ ोकस खोनज तĀ की मऻကपूण१ भूोमकॊ ऻोती ऻॖ?

Copper/ तॊँबॊ

Manganese/ म॰गनीज

Zinc/   ोजॠक

Molybdenum/ मॗोलĀडॕनम

Correct Answer :­Molybdenum/ मॗोलĀडॕनम 

25)

Question Stimulus :­

During transcription, the DNA site at which RNA polymerase binds is called:/
ঋोतोलोप कॕ दग़रॊन उस DNA Āथल, ोजस पर  RNA पॗलीमरॕज जॏीतॊ ऻॖ, को ভॊ कऻतॕ ऻ॰?

Promoter/ उĀॊयक

Regulator/ ोनयॊमक

Receptor/ ঁॊऻी

Enhancer/ सॠश्॑Āकर

Correct Answer :­Promoter/ उĀॊयक 

26)

Question Stimulus :­

When a diploid female plant is crossed with a tetraploid male, the ploidy of endosperm cells in
the resulting seed is:/ जब ोकसी ोကगॏोणत मॊदॊ पग़धॕ कॊ एक चतॏगॏ१ोणत नर पग़धॕ कॕ सॊथ ঋसॠकरण करॊयॊ जॊतॊ ऻॖ, तो
उससॕ बननॕ शॊलॕ बीज म७ ঎ूणपोह (एॠ डोĀम१) की कोोशकॊओॠ की गॏोणततॊ ভॊ ऻोगी?

Pentaploidy/ पॠचगॏोणततॊ

Diploidy/ ोကगॏोणततॊ



Triploidy/ ोআगॏोणततॊ

Tetraploidy/ चतॏगॏ१ोणततॊ

Correct Answer :­Tetraploidy/ चतॏगॏ१ोणततॊ 

27)

Question Stimulus :­

In your opinion, which is the most effective way to conserve the plant diversity of an area?/
ोकसी ঴ॕআ म७ पॊदप ोशोशधतॊ कॕ सॠर঴ण कॕ ोलए आपकॕ ोशचॊर म७ सशॊ१ोधक ঋभॊशशील ोशोध ভॊ ऻोगी?

By creating biosphere reserve/ जॖशमĀल ौरजश१ बनॊकर

By creating botanical garden/ शनĀोतक उĀॊनो ॠ कॕ स॑जन सॕ

By developing seed bank/ बीज­ब॰क ोशकोसत करकॕ

By tissue culture method/ ऊतक सॠशध१न ोशोध कॕ ကॊरॊ

Correct Answer :­By creating biosphere reserve/ जॖशमĀल ौरजश१ बनॊकर 

28)

Question Stimulus :­

In five kingdom system, the main basis of classification:/ पॊॠच जगत ঋणॊली म७ शग५करण कॊ मॏূ आधॊर
ऻॖ:

Structure of nucleus/ कॕကक की सॠरचनॊ

Nutrition/ पोहण

Structure of cell wall/ कोोशकॊ ोभोĀ की सॠरचनॊ

Asexual reproduction/ अल॰ोगक जनन

Correct Answer :­Nutrition/ पोहण 

29)

Question Stimulus :­

A mutant strain of T4 – Bacteriophage, R­II, fails to lyse the E.Coli but when two strains R­IIX

and R­IIY are mixed then they lyse the E.Coli. What may be the possible reason:/ T4 जीशॊणॏभोजी
कॊ एक उĀौरशत५ Ā३ॕन R­II, ई.कोलॊई जीशॊणॏ कॊ अपघटन नऻी ॠ कर पॊतॊ ऻॖ लॕोकन जब दो Ā३ॕन R­IIX तथॊ R­IIY को
ोमलॊयॊ जॊतॊ ऻॖ तो यऻ ई.कोलॊई कॊ अपघटन कर दॕतॊ ऻॖ, इसकॊ कॊरण ऻॖ:



Bacteriophage transforms in wild/ जीशॊणॏभोजी जॠगली ঋकॊर म७ बदल जॊतॊ ऻॖ

It is not mutated/ इसम७ उĀौरशत१न नऻी ॠ ॽआ ऻॖ

Both strains have simillar cistrons/ दोनो ॠ Ā३ॕनो ॠ म७ ोसĀ३ोन समॊन थॕ

Both strains have different cistrons/ दोनो ॠ Ā३ॕनो ॠ म७ ोसĀ३ोन अलग­अलग थॕ

Correct Answer :­Both strains have different cistrons/ दोनो ॠ Ā३ॕनो ॠ म७ ोसĀ३ोन अलग­अलग थॕ 

30)

Question Stimulus :­

The two polynucleotide chain in DNA are?/DNA की दो पॊोलကू्মओटॊइड ঒॑ॠखलॊएॠ  कॖसी ऻोती ऻॖ?

Semiconservative/ अध१सॠर঴ी

Parallel/ समॊॠतर

Discontinuous/ असॠतत

Antiparallel/ ঋोतसमॊॠतर

Correct Answer :­Antiparallel/ ঋोतसमॊॠतर 

31)

Question Stimulus :­

Difference in gram positive and gram negative bacteria is due to:/ ोकसकॕ कॊरण
ঁॊम धनॊĀक तथॊ ঁॊम ऋणॊĀक जीशॊणॏओॠ म७ अĀर पॊयॊ जॊतॊ ऻॖ

Cell wall/कोोशकॊ ोभोĀ

Cell membrane/कोोशकॊ कलॊ

Ribosome/रॊइबोसोम

Cytoplasm/कोोशकॊ ঈက

Correct Answer :­Cell wall/कोोशकॊ ोभोĀ 

32)

Question Stimulus :­

Which is the first CO2 Acceptor enzyme in C4 plants?/ C4 पॊदपो ॠ म७ ঋथम CO2 ঁॊऻी एĀजॊइम कग़न­सॊ ऻोतॊ
ऻॖ?



RuDP Carboxylase/ RuDP­कॊबॊ१সीलॕज

Phosphoric acid/ फॗĀोौरक एोसड

RUBISCO

PEP­ Carboxylase/ PEP­कॊबॊ१সीलॕज

Correct Answer :­PEP­ Carboxylase/ PEP­कॊबॊ१সीलॕज 

33)

Question Stimulus :­

Maximum photosynthesis takes place by:/ सशॊ१ोधक ঋकॊश सॠĀॕहण करतॕ ऻ॰:

Phytoplankton/ पॊदप ကशक

Zooplankton/ जĀॏ ကशक

Marsh plants/ दलदली पॊदप

Woody plants/ कॊĀीय पॊदप

Correct Answer :­Phytoplankton/ पॊदप ကशक 

34)

Question Stimulus :­

Which of the following is not used for disinfection of drinking water?/ ोनĀोल्खत म७ सॕ कग़नसॊ पदॊथ१
पॕय जल कॕ रोगॊणॏनॊशन म७ इĀॕमॊल नऻी ॠ ऻोतॊ?

Chlorine/ মोरॖमीन

Phenyl/ ोफनॊइल

Chloramine/ মोरीन

Ozone/ ओजोन

Correct Answer :­Phenyl/ ोफनॊइल 

35)

Question Stimulus :­

Genes for cytoplasmic male sterility in plants are generally located in:/ पग़धो ॠ म७ कोोशकॊঈကी नर
बॠĀतॊ कॕ जीन ঋॊयॡ ोकसकॕ भीतर पॊयॕ जॊतॕ ऻ॰:



Nuclear genome/ कॕကक जीनोम

Chloroplast genome/ মोरोကॊĀ जीनोम

Cytosol/ सॊइटोसॗल

Mitochondrial genome/ मॊइटोकॊ्Ā३ यल जीनोम

Correct Answer :­Mitochondrial genome/ मॊइटोकॊ्Ā३ यल जीनोम 

36)

Question Stimulus :­

Which one of the following is not included under in­situ conservation:/ ोनĀोल्खत म७ सॕ कग़न एक Ā­
Āथॊनी सॠर঴ण म७ स्Āोलत नऻी ॠ ोकयॊ गयॊ ऻॖ:

Sanctuary/ अĀॊरĀ

Botanical garden/ शॊनĀोतक शॊोटकॊ

Biosphere reserve/ बॊयोĀीयर ौरजश१ (सॏरो঴त जीश मĀल)

National park/ रॊĀ३ ीय उĀॊन

Correct Answer :­Botanical garden/ शॊनĀोतक शॊोटकॊ 

37)

Question Stimulus :­

Independent assortment of genes does not takes place when:/ ĀतĀ अपကूऻन कब नऻी ॠ ऻोगॊ?

Genes are located on homologous chromosomes/ जब जीन समजॊत गॏणसूআो ॠ पर ्Āथत ऻोती ऻॖ

Genes are linked and located on same chromosome/ एक जीĀ सऻल্ ऻो तथॊ एक ऻी गॏणसूআ पर
्Āथत ऻो

Genes are located on non­homologous chromosome/ जब जीन असमजॊत गॏणसूআो ॠ पर ्Āथत ऻोतॊ ऻॖ

All the above/ उपरोঢ सभी

Correct Answer :­Genes are linked and located on same chromosome/ एक जीĀ सऻल্ ऻो तथॊ
एक ऻी गॏणसूআ पर ्Āथत ऻो 

38)

Question Stimulus :­

Endosperm is formed during the double fertilization by:/ ोကोनहॕचन कॕ समय ঎ूणपोह कॊ ोनमॊ१ण ोकससॕ ऻोतॊ
ऻॖ?



Two polar nuclei & one male gamete/ दो উूशीय कॕကक श एक नर यॏ৒क

One polar nuclei & one male gamete/ एक উूशीय कॕကक श एक नर यॏ৒क

Ovum and male gamete/ अĀ कोोशकॊ श नर यॏ৒क

Two polar nuclei & two male gametes/दो উूशीय कॕကक श दो नर यॏ৒क

Correct Answer :­Two polar nuclei & one male gamete/ दो উूशीय कॕကक श एक नर यॏ৒क 

39)

Question Stimulus :­

All enzymes of TCA cycle are located in the mitochondrial martix except one which is located
in inner mitochondrial membranes in eukaryotes and in cytosol in prokaryotes. This enzyme
is:/ TCA चॿ कॕ सभी एॠजॊइम, बस एक को छोीकर मॊइटोकॊ्Ā३ यल मॖोट३স म७ ऻोतॕ ऻ॰ और शऻ एक सॏक७ ঈोकयो ॠ म७ भीतरी
मॊइटोकॊ्Ā३ यल ोझĀी म७ तथॊ ঋॊজ७ ঈोकयो ॠ म७ सॊइटोसॊल म७ ऻोतॊ पॊयॊ जॊतॊ ऻॖ। यऻ अकॕलॊ एॠजॊइम कग़नसॊ ऻॖ?

Succinate dehydrogenase/ सসीनॕट डीऻॊइड३ ोजीनॕज

Lactate dehydrogenase/ लॖঠॕट डीऻॊइड३ ोजीनॕज

Isocitrate dehydrogenase/ आइसोसॊइट३ ॕट डीऻॊइड३ ोजीनॕज

Malate dehydrogenase/ मॖलॕट डीऻॊइड३ ोजीनॕज

Correct Answer :­Succinate dehydrogenase/ सসीनॕट डीऻॊइड३ ोजीनॕज 

40)

Question Stimulus :­

Largest sperm is of:/ ोकसकॊ Āम१ सबसॕ बीॊ ऻोतॊ ऻॖ?

PiŶus/पॊइनस

CǇcas/सॊईकस

Ephedƌa/यूफॕड३ ॊ

SeƋuoia/ोसরोईयॊ

Correct Answer :­CǇcas/सॊईकस 

41)

Question Stimulus :­

Which of the following induces morphogenesis in tissue culture:/ कग़न उĀक सॠश१धन म७ मोफॳजॕनॕोसस को
ঋॕौरत करतॊ ऻॖ?



Gibberellin/ोजကरोलन

Cytokinin/सॊइटोकॊइोनन

I.A.A/आई.ए.ए

Ethylene/इथॊइलीन

Correct Answer :­Cytokinin/सॊइटोकॊइोनन 

42)

Question Stimulus :­

m­RNA is synthesised on DNA template in which direction?/ m­RNA, DNA टॕĀलॕट पर ोकस ोदशॊ म७
बनतॊ ऻॖ?

5'   3'

3   5

Both the above/ उपरोঢ दोनो ॠ

All the above/ उपरोঢ सभी

Correct Answer :­5'   3' 

43)

Question Stimulus :­

In order to obtain virus–free plants through tissue culture the best method is:/ऊतक सॠशध१न ကॊरॊ
ोशहॊणॏ मॏঢ पग़धॕ ঋॊĀ करनॕ की सबसॕ अৢी ोशोध ভॊ ऻॖ?

Protoplast culture/ जीशঈကक सॠशध१

Embryo rescue/ ঎ूण रॕĀভू

Anther culture/ परॊग सॠशध१

Meristem culture/ ोशभĀोतक सॠशध१

Correct Answer :­Meristem culture/ ोशभĀोतक सॠशध१ 

44)

Question Stimulus :­

Escherichia coli is used as an indicator organism to determine pollution of water with:/ एक सूचक
जीश कॕ ॺप म७ एशॕौरोकयॊ कोलॊई कॊ उपयोग जल म७ ोकसकॕ ঋदूहण कॕ ोनधॊ१रण म७ ोकयॊ जॊतॊ ऻॖ?



Heavy metals/ भॊरी धॊतॏएँ

Faecal matter/ ोशĀॊ पदॊथ१

Industrial effluents/ औĀोोगक बोऻॡঋशॊऻ

Pollen of aquatic plants/ जलीय पग़धो ॠ कॊ परॊग

Correct Answer :­Faecal matter/ ोशĀॊ पदॊथ१ 

45)

Question Stimulus :­

During transcription holoenzyme RNA polymerase binds to a DNA sequence and
the DNA assumes a saddle like structure at that point. What is that sequence
called?/ अनॏलॕखन कॕ दग़रॊन पूण१एॠ जॊइम RNA पग़लीमरॕज एक DNA अनॏॿम कॕ सॊथ आबॠध बनॊतॊ ऻॖ
और उससॕ शऻ  DNA उस ोबॠदॏ पर एक कॊठी जॖसी सॠरचनॊ बनॊ लॕतॊ ऻॖ। इस अनॏॿम को ভॊ कऻतॕ ऻॖ?

CAAT box/ CAAT बॗস

GGTT box/ GGTT बॗস

AAAT box/ AAAT बॗস

TATA box/ TATA बॗস

Correct Answer :­TATA box/ TATA बॗস 

46)

Question Stimulus :­

Genetic drift operates in:/ आनॏशॊॠोशक सॠचय ोकसम७ ऻोतॊ ऻॖ?

Small isolated population/ छोटी प॑थজ॑त समोĀ

Large isolated population/ बीी प॑थজ॑त समोĀ

Fast reproductive population/ ती঑ जनन करनॕ शॊली समोĀ

Slow reproductive population/ मॠद जनन करनॕ शॊली समोĀ

Correct Answer :­Small isolated population/ छोटी प॑थজ॑त समोĀ 

47)

Question Stimulus :­

Most abundant organic compound on earth is:/ प॑Āी पर पॊयॕ जॊनॕ शॊलॊ सबसॕ ঋचॏर कॊब१ोनक यग़ोगक ऻॖ:



Protein/ঋोटीन

Cellulose/सॕĀॏलोि

Lipids/ ोलोपड

Steroids/Āॕरॗइड

Correct Answer :­Cellulose/सॕĀॏलोि 

48)

Question Stimulus :­

Which one of the following elements is not an essential micronutrient for plant growth?/
ोनĀोल्खत म७ सॕ कग़न सॊ एक तက पॊदप श्॑Ā कॕ ोलए अोनशॊय१ सू঵पोहक नऻी ॠ ऻॖ?

Ca

Mn

Zn

Cu

Correct Answer :­Ca 

49)

Question Stimulus :­

Most stable pesticides:/सबसॕ अोधक Āथॊयी पीीकनॊशी ऻॖ:

Organophosphates/ऑग८नोफॗĀॕट

Organochlorines/ऑग८नोমोरीन

Bordeaux mixture /बॗोड१अস ोम঒ण

Azederectin/एिॕोडौरঠीन

Correct Answer :­Organochlorines/ऑग८नोমोरीन 

50)

Question Stimulus :­

The bacterium (Clostridium botulinum) that causes botulism is:/ बॊटॏोलĀ पॖदॊ करनॕ शॊलॊ जीशॊणॏ
(মॗ्Ā३ोडयम बॊटॏोलनम) ভॊ ऻोतॊ ऻॖ?

A facultative anaerobe/ एक ोशकĀी अनॗসीजीश



An obligate anaerobe/ एक अोशकĀी अनॗসीजीश

A facultative aerobe/ एक ोशकĀी ऑসीजी

An obligate aerobe/ एक अोशकĀी ऑসीजीश

Correct Answer :­An obligate anaerobe/ एक अोशकĀी अनॗসीजीश 

Topic:­ Zoology
1)

Question Stimulus :­

If PO2 of inspired air is 104 mm Hg then the PO2 of first 150 ml of expired air during
normal breathing would be about:/ योद अॠतॡ Āोसत शॊयॏ कॊ PO2 104 mm Hg ऻॖ तो पऻली 150 उस
बोऻॡĀोसत शॊयॏ कॕ PO2 कॊ मॊन लगभग ऻोगॊ:

40 mm Hg

46 mm Hg

104 mm Hg

150 mm Hg

Correct Answer :­104 mm Hg 

2)

Question Stimulus :­

Which of the following statement is incorrect?/ ोनĀ म७ सॕ कग़नसॊ कथन असĀ ऻॖ?

Vertebrate focus the eye by changing the shape of lens/ कशॕॺकी आँखो ॠ म७ कोमल लॕĀ
की आक॑ोत पौरशोत१त करकॕ करतॊ ऻॖ

Flow of sensory information in the retina is opposite to the path of light/ सॠशॕदी सूचनॊ
कॊ गमन रॕोटनॊ म७ ঋकॊश कॕ ोशपौरत ऻोतॊ ऻॖ

The vertebrate eye adjust the amount of light entering the eye by contracting the
ciliary muscle/ कशॕॺकी की आँखो ॠ ঋकॊश की मॊআॊ ोसĀीयरी पॕोशयॊँ म७ सॠकॏ चन सॕ ोनय्Āत ऻोतॊ ऻॖ

Inner segment of rod and cones have more mitochondria/ रोड श कोन कॕ आĀौरक भॊग
म७ मॊइट३ ोको्Ā३ यॊ अोधक ऻोतॕ ऻ॰

Correct Answer :­The vertebrate eye adjust the amount of light entering the eye by
contracting the ciliary muscle/ कशॕॺकी की आँखो ॠ ঋकॊश की मॊআॊ ोसĀीयरी पॕोशयॊँ म७ सॠकॏ चन सॕ
ोनय्Āत ऻोतॊ ऻॖ 



3)

Question Stimulus :­

Obturator foramen in pelvic girdle of mammals is formed by:/ Āनधॊौरयो ॠ कॕ ঒ोणी मॕखलॊ म७
आĀĀूरॕटर ोछঈ ोकसकॕ ကॊरॊ बनतॊ ऻॖ?

Pubis and ischium/ Āूोबस तथॊ इोĀयम

Pubis and ilium/ Āूोबस तथॊ इलीयम

Ilium and ischium/ इलीयम तथॊ इोĀयम

Ilium, ischium and pubis/ इलीयम, इोĀयम तथॊ Āूोबस

Correct Answer :­Pubis and ischium/ Āूोबस तथॊ इोĀयम 

4)

Question Stimulus :­

Which of the following is a immunopotentiating drug?/ ोनĀ म७ सॕ कग़नसी इĀूनोपोटॕ्ĀĀोटॠग दशॊ
ऻॖ?

Cyclosporin/ सॊइমोĀोरीन

Interferon/ इကरफॕरॗन

Corticosteriod/ कॊोट१कोĀॕरोइड

Antibiotic/ए्ကबॊयोोटक

Correct Answer :­Interferon/ इကरफॕरॗन 

5)

Question Stimulus :­

Which of the statements is not true for frog?/ोनĀ म७ कग़नसॊ कथन मॕढक कॕ सॠदभ१ म७ सऻी नऻी ऻॖ?

Neck and tail is absent in adult frog/ गद१न श पूॠछ ကĀ म७ढक म७ अनॏप्Āथत ऻोतॕ ऻॖ

Nictitating membrane is also present besides lower and upper eye lids/ ोनचली श
उपरी पलक कॕ अोतौरঢ ोनमॕहक ोझĀी भी पॊयी जॊती ऻॖ

Exo­skeleton is present/ बॊĀ कॠ कॊल उप्Āथत ऻोतॊ ऻॖ

All of the above/उपरोঢ सभी

Correct Answer :­Exo­skeleton is present/ बॊĀ कॠ कॊल उप्Āथत ऻोतॊ ऻॖ 



6)

Question Stimulus :­

Which of following statement is incorrect?/ ोनĀ म७ सॕ कग़नसॊ कथन असĀ ऻॖ?

During pregnancy the mammary gland are prepared but prevented from lactating/
गभॊ१शĀथॊ म७ Āन ঁ्Āयॊँ पौरपর ऻोती ऻॖ पर दॏध ोनमॊ१ण नऻी ॠ ऻोतॊ ऻॖ

Baby's suckling trigger the posterior pituitary gland to release oxytocin/ बৡॕ कॕ
चॏसनॕ सॕ पĀ ोपĀूटरी ঁ्Ā कॕ ओসीटोसीन कॕ मॏঢ ऻोनॕ को ঋॕौरत करती ऻॖ

Dopamine decrease during pregnancy/ डोपॊमीन गभॊ१शĀथॊ म७ कम ऻोतॊ ऻॖ

Hypothalamus secrete more amount of prolactin releasing hormone/ ऻॊइपोथॖलॕमस सॕ
अोधक मॊআॊ म७ ঋग़लॕঠीन मॏঢी तက Āॊोशत करतॊ ऻॖ

Correct Answer :­Hypothalamus secrete more amount of prolactin releasing
hormone/ ऻॊइपोथॖलॕमस सॕ अोधक मॊআॊ म७ ঋग़लॕঠीन मॏঢी तက Āॊोशत करतॊ ऻॖ 

7)

Question Stimulus :­

In neurospora every mutation expressed as:/ ကूरोĀोरॊ म७ ঋĀॕक उĀौरशत१न ঋकट ऻोतॊ ऻॖ:

Recessive character/ अঋभॊशी ल঴ण

Dominant character/ ঋभॊशी ल঴ण

Complementry character/ सĀूरक जीन

Duplicate gene/डॏကीकॕट जीन

Correct Answer :­Dominant character/ ঋभॊशी ल঴ण 

8)

Question Stimulus :­

Which gene is called 'guardian of genome?/ कग़नसॊ जीन ‘जीनोम कॊ रखशॊलॊ’ कऻलॊतॊ ऻॖ?

P53 gene/ P53 जीन

Ti gene/Ti जीन

PBR 322

Promotor gene/ ঋोमोटर जीन



Correct Answer :­P53 gene/ P53 जीन 

9)

Question Stimulus :­

The accompanying diagram shows percentage of homozygous in generation
under different digree of inbreeding through brother and sister, first cousin and
second cousins match the lines numbered 1, 2 and 3 with the above mentioned
breeding pairs:/ ोनĀ ोचআ पीढी दर पीढी म७ समयॏ৒नजतॊ भी ঋोतशततॊ बतॊतॊ ऻॖ योद ोनĀ म७ मĀ
इनो঍ोडॠग ऻोती ऻॖ भॊई एशॠ बऻन, ঋथम कोजन (Cousin) ोကतीय कोजन (Cousin) ोनĀ तीन रॕखॊओॠ 1,
2,  3 को उपरोঢ जोीो कॕ अनॏसॊर ကश्Āथत करो:

1, 2, 3

2, 1, 3

3, 1, 2

3, 2, 1

Correct Answer :­3, 2, 1 

10)

Question Stimulus :­

During diastole auricles receive:/ अनॏोशोथलन कॕ समय आोलॠद ঋॊĀ करतॕ ऻ॰

Oxygenated blood/ ऑসीजोनत रঢ

Deoxygenated blood/ अनॗসीजोनत रঢ

Mixed blood/ ोमो঒त रঢ

Venous blood/ ोशरॊओॠ कॊ रঢ

Correct Answer :­Venous blood/ ोशरॊओॠ कॊ रঢ 



11)

Question Stimulus :­

Father of 'lichenology' is:/ ‘लॊइकॕन ोशĀॊन’ कॕ जनक ऻ॰:

Morrison/ मोरीसन

Crombie/ ॿोĀी

De­bary/ डी­बॕरी

Erik acharius/ एरीक एकॕौरयस

Correct Answer :­Erik acharius/ एरीक एकॕौरयस 

12)

Question Stimulus :­

The amount of haemoglobin present in an average adult human blood is about:/ एक
औसत शयĀ कॕ रঢ म७ उप्Āथत कॏ ल ऻीमो৕ोोबन की लगभग मॊআॊ ऻोगी:

20 gm

15 gm

75 gm

750 gm

Correct Answer :­750 gm 

13)

Question Stimulus :­

Which of the following is a brain stimulant?/ ोनĀ म७ सॕ कग़नसी म्ĀĀ उĀीपक ऻॖ?

Smack/ Āॕक

Opium/ ओोपयम

Hashish/ ऻोशश

Cocaine/ कोकीन

Correct Answer :­Cocaine/ कोकीन 

14)



Question Stimulus :­

The only human system that is derived from all the three germ layers is:/ ोनĀ म७ सॕ कग़नसॊ
तॠআ ऻॖ जो ोक तीनो ॠ जनन­Āरोॠ सॕ ोनोम१त ऻोतॊ ऻॖ?

Digestive system/ पॊचन तॠআ

Excretory system/ उĀज१न तॠআ

Respiratory system/Āसन तॠআ

Nervous system/ त्Āकॊ तॠআ

Correct Answer :­Digestive system/ पॊचन तॠআ 

15)

Question Stimulus :­

Which one of the following muscles are responsible for moving and shaking the skin?/
ोनĀ म७ सॕ कग़नसी पॕशी ကचॊ को ोऻलॊनॕ­डॏलॊनॕ कॕ ोलए उĀरदॊयी ऻोती ऻॖ?

Arrector pilli/अरॖঠर ोपलॊई

Collagen fibres/ कॗलॕजन तĀॏ

Paniculus carnosus/ पॕनीकूलस कॖनॳसस

Sphincter muscles/ ्Āॠ ঠर पॕोशयॊँ

Correct Answer :­Paniculus carnosus/ पॕनीकूलस कॖनॳसस 

16)

Question Stimulus :­

Ovulation occurs:/ ओကूलॕशन ऻोतॊ ऻॖ:

Alternately from two ovaries/ दोनो ॠ अĀॊशयो ॠ सॕ एकॊĀौरत ॿम म७

Simultaneously from both the ovaries/ दोनो ॠ अĀॊशयो ॠ सॕ एक ऻी समय पर

From one ovary alone throughout the life/ पूरॕ जीशन कॊल म७ एक ऻी अĀॊशय ကॊरॊ

According to the season from two ovaries/ ऋतॏनॏसॊर दोनो ॠ अĀॊशयो ॠ ကॊरॊ

Correct Answer :­Alternately from two ovaries/ दोनो ॠ अĀॊशयो ॠ सॕ एकॊĀौरत ॿम म७ 

17)



Question Stimulus :­

Even after disruption of all the hydrogen bonds, which structural levels of a protein
molecule still remain intact?/ समĀ ऻॊइड३ ोजन बॠध कॕ टूटनॕ कॕ पĀॊत भी ঋोटीन अणॏ कॊ कग़नसॊ
सॠरचनॊĀक Āर अपौरशोत१त रऻतॊ ऻॖ?

Tertiary/ त॑तीयक

Primary/ ঋॊथोमक

Secondary/ ोကतीयक

Quaternary/ चतॏथ१क

Correct Answer :­Primary/ ঋॊथोमक 

18)

Question Stimulus :­

If a person takes deep and fast breaths for some time forcefully then after this act his
desire to breath reduces for some time. This is due to:/ योद कोई က्ঢ कॏ छ समय तक बलपूश१क
गऻरी श ती঑ दर सॕ Āॊॠस लॕतॊ ऻॖ तो तĀĀॊत कॏ छ समय कॕ ोलयॕ उसकी सॊँस लॕनॕ की इৢॊ कम ऻो जॊती ऻॖ। यऻ ोकस
कॊरणशश ऻोतॊ ऻॖ?

Increased PO2 in blood/ रঢ म७ PO2 बुनॕ सॕ

Decreased PCO2 in blood/ रঢ म७ PCO2 घटनॕ सॕ

Decreased PO2 in blood/ रঢ म७ PO2 घटनॕ सॕ

Increased PCO2 in blood/ रঢ म७ PCO2 बुनॕ सॕ

Correct Answer :­Decreased PCO2 in blood/ रঢ म७ PCO2 घटनॕ सॕ 

19)

Question Stimulus :­

Mast cells are also known to occur as:/ मॊĀ कोोशकॊएँ जॊनी जॊती ऻ॰:

Monocyte/ मोनोसॊइट

Eosinophils/ इओोसनोोफल

Acidophil/ एोसडोोफल

Basophil/ बीसोोफल



Correct Answer :­Basophil/ बीसोोफल 

20)

Question Stimulus :­

A trait in a diploid via single gene with five alleles. How many different allele would be
present in an individual?/ ोကगॏोणतो ॠ म७ ल঴ण एक जीन ကॊरॊ ोनयॠोআत ऻोतॊ ऻॖ ोजसकॕ पॊँच एलील ऻ॰, तो एक
सदĀ म७ उस जीन कॕ ोकतनॕ एलील उप्Āथत ऻो ॠगॕ?

2

5

15

10

Correct Answer :­2 

21)

Question Stimulus :­

Absorption of iron take place in which part of intestine:/ लग़ऻ तက कॊ अशशोहण आॠআ म७ ोकस
भॊग म७ ऻोतॊ ऻॖ :

Duodenum/ ঁऻणी

Jejunum/ मĀॊॠআ

Ilium/ पĀॊॠআ

Stomach/ अमॊशय

Correct Answer :­Duodenum/ ঁऻणी 

22)

Question Stimulus :­

Function of IgE is:/ IgE कॊ कॊय१ ऻॖ:

Agglutination/ए৕ूोटनॕशन

Opsonisation/ ऑĀोोनकरण

Hypersensitivity reaction/ अोतसॠशॕदॠशील ঋोॿयॊ

All the above/ उपरोঢ सभी



Correct Answer :­Hypersensitivity reaction/ अोतसॠशॕदॠशील ঋोॿयॊ 

23)

Question Stimulus :­

Which enzyme is used in ELISA test?/ ELISA टॕĀ म७ कग़नसॊ एĀजॊइम उपयोग ोकयॊ जॊतॊ ऻॖ?

β­galactosidase/β­ ৕ॕঠोसॊइडॕज

Peroxidase/ परऑসीडॕज

Both of above/ उपरोঢ दोनो ॠ

None of above/ उपरोঢ म७ सॕ कोई नऻी ॠ

Correct Answer :­Both of above/ उपरोঢ दोनो ॠ 

24)

Question Stimulus :­

Which is strongest endopeptidase?/सबसॕ श्ঢशॊली एĀोपॕĀीडॕज एĀजॊइम कग़नसॊ ऻॖ?

Trypsin/ोट३ ्Āन

Pepsin/पॕ्Āन

Rennin/रॕोĀन

Chymotrypsin/कॊइमोोट३ ्Āन

Correct Answer :­Pepsin/पॕ्Āन 

25)

Question Stimulus :­

In case of drowning, death will occur early if the person is drowned in:/ डूबनॕ सॕ म॑Āॏ कऻॊँ
पऻलॕ ऻोगी?

Sea water (salt water)/ समॏঈ (खॊरॕ पॊनी म७)

River water (fresh water)/ नदी (मीठॕ पॊनी म७)

Death will occur in equal time/ दोनो ॠ पौर्Āथोतयो ॠ म७ समॊन समय लगॕगॊ

It depends on the flow of water/ यऻ पॊनी कॕ बऻॊश पर ोनभ१र ऻॖ

Correct Answer :­River water (fresh water)/ नदी (मीठॕ पॊनी म७) 



26)

Question Stimulus :­

Which of the following is called smokers disease?/ ोनĀ म७ सॕ कग़नसॊ रोग धूএरोग कऻलॊतॊ ऻॖ?

Gastritis/गॕĀ३ॊइौरस

Emphysema/एĀफॊइोसमॊ

Asthma/अĀथमॊ

Liver cirrhosis/ यक॑त ोसरोोसस

Correct Answer :­Emphysema/एĀफॊइोसमॊ 

27)

Question Stimulus :­

The ear detect sound by the movement of:/ कण१ ोकसकी गोत सॕ Āोन को पऻचॊनतॊ ऻॖ?

The basilar membrane/ बॕसीलर ोझĀी

The tectorial membrane/ टॕঠोौरयल ोझĀी

The cupula/ कॏ पॏलॊ

Otoconia/ ओटोकोोनयॊ

Correct Answer :­The basilar membrane/ बॕसीलर ोझĀी 

28)

Question Stimulus :­

Which is most common enzymetic deficiency disorder in human being?/ मॊनश म७ सबसॕ
सॊमॊက एĀजॊइमॕोटक कमी रोग कग़नसॊ ऻॖ?

Thalassemia/थॖलॕसीमीयॊ

G­6­PD deficiency syndrome/ G­6­PD कमी रोग

P.K.U./पी.कॕ.यू.

Tay­sac disease/ टॕ­सॕक रोग

Correct Answer :­G­6­PD deficiency syndrome/ G­6­PD कमी रोग 



29)

Question Stimulus :­

Which test you will prescribe to find out the risk of heart attack?/ ॼदय घॊत कॕ खतरॕ कॊ पतॊ
लगॊनॕ कॕ ोलए आप कग़नसी जॊँच करॊएँगॕ?

E.E.G.

Lipid profile/ ोलोपड ঋोफॊइल

E.S.R.

B.T. & C.T. test/ B.T. एशॠ C.T जॊँच

Correct Answer :­Lipid profile/ ोलोपड ঋोफॊइल 

30)

Question Stimulus :­

Human skin cell contain_______chromosomes and sperm
contian_______chromosome:/ मॊनश की ကचॊ की कोोशकॊओॠ म७_______गॏणसूআ एशॠ शॏॿॊणॏ
म७_______गॏणसूআ ऻोतॕ ऻ॰:

23, 46

46, 23

46, 46

23, 23

Correct Answer :­46, 23 

31)

Question Stimulus :­

C­value of homosapiens is 2.8 picogram. One picogram is simillar to:/ ऻोमोसॕोपयĀ की C­
value 2.8 ोपकोঁॊम ऻोती ऻॖ, एक ोपकोঁॊम ोनĀ कॕ समॊन ऻोतॊ ऻॖ:

6.1 × 1011 dalton/6.1 × 1011 डॊĀन

956 × 106 base pair/956 × 106 ঴ॊर यॏ৒

Both the above/ उपरोঢ दोनो ॠ

None of these/ इनम७ कोई नऻी ॠ



Correct Answer :­Both the above/ उपरोঢ दोनो ॠ 

32)

Question Stimulus :­

In human embryology the cranial end is marked by appearance of:/ मॊनश ঎ग़ोणकी म७ ঎ूण
कॊ शीह१ ोऻĀॊ ोकस रचनॊ कॕ बननॕ कॕ सॊथ ोनधॊ१ौरत ऻोतॊ ऻॖ:

Primitive streak/ঋॊथोमक छी यॊ आोद रॕखॊ

Prochordal plate/ঋोकॊड१ल ကॕट

Notochord/नोटोकोड१

Neural tube/ကूरल Āूब

Correct Answer :­Prochordal plate/ঋोकॊड१ल ကॕट 

33)

Question Stimulus :­

The largest carpuscles of human blood are:/ मनॏĀ कॕ रঢ म७ पॊयी जॊनॕ शॊली सबसॕ बीी कोणकॊएँ ऻ॰:

Neutrophils/ကॏट३ ोोफက

Lymphocytes/ोलĀफोसॊइट्स

Monocytes/मोनोसॊइट्स

Eosinophils/इओोसनोोफल

Correct Answer :­Monocytes/मोनोसॊइट्स 

34)

Question Stimulus :­

How many different type of gametes are produced by A/a, B/B, C/c, D/d produce?/
A/a, B/B, C/c, D/d जीनोटॊइप सॕ ोकतनॕ ঋकॊर म७ यॏ৒क बनॕगॕ?

2

4

8

16



Correct Answer :­8 

35)

Question Stimulus :­

A man who carries an X­linked allele will pass it on to:/ एक पॏॺह कॕ पॊस X­सऻल্ एलील ऻॖ, यऻ
Āथॊनॊॠतौरत ऻोगॊ:

All his daughters/ उसकी सभी पॏोআयो ॠ म७

Half of his daughter/ उसकी आधी पॏोআयो ॠ म७

All his sons/ उसकॕ सभी पॏআो ॠ म७

All his children/ उसकॕ सभी बৡो म७

Correct Answer :­All his daughters/ उसकी सभी पॏोআयो ॠ म७ 

36)

Question Stimulus :­

Best source to obtain areolar connective tissue for histology is:/ औतकी कॕ ोलए अĀरॊलीय
सॠयोजी उĀक उपलĀ करॊनॕ कॊ उĀम Āोत ऻॖ:

Periosteum/ पॕौरयोĀीयम

Perimycium/ पॕौरमॊइोशयम

Perichondrium/ पॕरीकॗ्Ā३ यम

Epimycium/ एपीमॊईोशयम

Correct Answer :­Perimycium/ पॕौरमॊइोशयम 

37)

Question Stimulus :­

The genetic event that result in jacob syndrome is probably:/ अनॏशॊॠोशक घटनॊ, जो ोक जॕकब
ोसĀ३ ोम कॕ ोलए उĀरदॊयी ऻॖ:

Non disjunction/नॗन ोडĀলन

Deletion/ोशलोपन

Duplication/ोကगॏणन

Monoploidy/मोनोကॗइडी



Correct Answer :­Non disjunction/नॗन ोडĀলन 

38)

Question Stimulus :­

Which vitamin prevent blindness in children?/ कग़नसॊ ोशटॊोमन बৡो म७ अĀतॊ रोकतॊ ऻॖ?

Vitamin – A/ ोशटॊोमन­ A   

Vitamin – C/ ोशटॊोमन ­ C

Vitamin – D/ ोशटॊोमन ­ D

Vitamin – B/ ोशटॊोमन ­ B

Correct Answer :­Vitamin – A/ ोशटॊोमन­ A    

39)

Question Stimulus :­

Which is most common problem of adolescence:/ तॺणॊशĀथॊ की ঋमॏख समĀॊ ऻॖ:

Acne/ कील मॏऻॊॠसॕ

Drug addiction/ औहधी ကसन

Phobia/ डर

None of these/इनम७ सॕ कोई नऻी ॠ

Correct Answer :­Acne/ कील मॏऻॊॠसॕ 

40)

Question Stimulus :­

Which type of teeth present in human?/ मॊनश म७ ोकस ঋकॊर कॕ दॊॠत ऻोतॕ ऻॖ?

Heterodont/ ोशहमदĀी

Monophydont/ एकबॊरदĀी

Diphyodont/ ोကबॊरदĀी

All the above/ उपरोঢ सभी

Correct Answer :­All the above/ उपरोঢ सभी 



41)

Question Stimulus :­

Which of the following is a part of innate immunity?/ ोनĀ म७ सॕ कग़नसॊ जĀजॊत ঋोतर঴ॊ कॊ भॊग
ऻॖ?

NK­cell/NK­कोोशकॊ

Lymphocyte/ोलĀफोसॊइट

Complementry protein/सĀूरक ঋोटीन

Both NK­cell and Complementry protein / NK­कोोशकॊ एशॠ सĀूरक ঋोटीन दोनो ॠ

Correct Answer :­Both NK­cell and Complementry protein / NK­कोोशकॊ एशॠ सĀूरक ঋोटीन
दोनो ॠ 

42)

Question Stimulus :­

Which laser is used for LASIK laser?/ लॕोसक लॕसर म७ कग़नसी लॕसर कॊ उपयोग ोकयॊ जॊतॊ ऻॖ?

Ultra Violet laser/परॊबॖगनी लॕसर

CO2 laser/CO2 लॕसर

Argon­ion laser/ आग१न­आयन लॕसर

All the above/ उपरोঢ सभी

Correct Answer :­Ultra Violet laser/परॊबॖगनी लॕसर 

43)

Question Stimulus :­

How many milk canine is present in human?/मॊनश म७ ोकतनॕ दॏ৊ क॑दॠत(कॖनॊइन) ऻोतॕ ऻ॰?

4

20

2

8

Correct Answer :­4 



44)

Question Stimulus :­

The dissociation of oxyhaemoglobin and release of oxygen to the cells at tissue level is
due:/ ऊĀक Āर पर ऑসीऻीमो৕ोोबन कॊ ोशखĀन श कोोशकॊओॠ को आসीजन की आपूोत१ ोकस कॊरण ऻोती
ऻॖ?

pCO2

pCO2

pO2  

pO2

Correct Answer :­ pO2 

45)

Question Stimulus :­

Dosase componsation is related to:/ डोसॕज कĀनसॕशन सĀ्Āत ऻॖ:

Watson and crick/शॊटसन एशॠ ोॿक सॕ

Barr bodies/बॊर बॊडी सॕ

Y­body/Y­कॊय सॕ

Muller /मूलर सॕ

Correct Answer :­Barr bodies/बॊर बॊडी सॕ 

46)

Question Stimulus :­

Iliac artery carries blood to the:/ इोलयक धमनी रঢ ঋदॊन करती ऻॖ:

Lungs/फॕफीो ॠ को

Ileum/इोलयम को

Hind limbs/पĀपॊदो ॠ को

Brain/ म्ĀĀ को

Correct Answer :­Hind limbs/पĀपॊदो ॠ को 



47)

Question Stimulus :­

In order to study the efficiency of stereocilia one can refer to:/ Āीौरयोोसोलयॊ की ঴मतॊ को
समझॊनॕ कॕ ोलए ोनĀ म७ सॕ ोकसॕ दॕख७गॕ?

Fallopian tube/ अĀशॊोऻनी नोलकॊ को

Ependymal epithelium/ इपॕनडॊयमल उपकलॊ

Epididymes/ एोपोडडॊयमस

All of the above/ उपरोঢ सभी

Correct Answer :­Epididymes/ एोपोडडॊयमस 

48)

Question Stimulus :­

What would expect in a pregnant women of early month?/ गभ१शती मोऻलॊ कॕ शॏॺआती मऻीनो ॠ म७
ভॊ सĀश ऻॖ?

High level of F.S.H. and L.H./ एफ.एस.एच. श एल.एच. की अोधक मॊআॊ

High level of prolactin/ ঋग़लॕঠीन की अोधक मॊআॊ

High level of H.C.G./ एच.सी.जी. की अोधक मॊআॊ

High level of oxytocin/ ऑসीटोसीन की अोधक मॊআॊ

Correct Answer :­High level of H.C.G./ एच.सी.जी. की अोधक मॊআॊ 

49)

Question Stimulus :­

Compound tubule­alveolar gland is:/ सॠयॏঢ नलॊकॊर­कूपॊकॊर ঁĀी ऻॖ

Parotid gland/ पॕरोोटड ঁ्Ā

Sweat gland/ Āॕद  ॠঁ्Ā

Submandibular gland/ सबमॕĀीबॏलर ঁ्Ā

None of the above/ उपरोঢ म७ कोई नऻी ॠ

Correct Answer :­Parotid gland/ पॕरोोटड ঁ्Ā 



50)

Question Stimulus :­

Atropine is liable to cause:/ एट३ ोपीन करतॊ ऻॖ

Weakness of cardiac muscle/ ॼदयी पॕोशयो ॠ म७ कमजोरी

An increase in the resting heart rate/ ोश঒ॊम ॼदय दर को बुॊतॊ ऻॖ

And excessive flow of saliva/ लॊर कॊ अĀोधक Āॊशण

Over activity of the small intestine/ छोटी आॠআ की अोधक सोॿयतॊ

Correct Answer :­An increase in the resting heart rate/ ोश঒ॊम ॼदय दर को बुॊतॊ ऻॖ 


